N = 0l & At & Ml A

2AH: SRS
dM: I 22 22 € XA
Sl RIIRTA =X Y x4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SX &M 13,180,207 13,452,152 A 271,945
= 2,237,151
s 1,491,000
Al 5,530,952
- 3,921,104
=t 22 22 ¥ X3 3,665,912 3,654,780 11,132
Al 1,697,400
- 1,968,512
2R3N =X Jlgt =24 3,665,912 3,654,780 11,132
Al 1,697,400
- 1,968,512
RS SR K A 4,749 12,787 A 8,038
201 2et24d] 2,749 4,787 A 2,038
01 At 22l 749 787 A38
OHEEZE M= 18,0002 19K 342
Os=2289 € 20| 282 M= 407
0o BLU(RH=E) 407,000% %14 407
03 A2 Z Hl 2,000 4,000 A2,000
OBEIE AL 2,000,000& 2,000
301 LEPEXF 2,000 8,000 26,000
09 HALAHIXI &3 2,000 4,000 A 2,000
OLEEIIE &AL 2,000,000 2,000
It RS L EFCH N 358,563 381,593 223,030
201 Let24d] 68,680 69,920 21,240
01 At 2teltl 4,680 4,920 A 240
O&3la 24l 4,680
o gt=2Hl 200,000&*12& 0.9 2,160
o HIO U= 30,0003 +2CH+123 720
0 HES T R01PY BAL42
150,000& =128 1,800
02 =224l 64,000 65,000 A1,000
OB&3sl2 2l 5,000,000& x12& 60,000
O &3l& AN&FEH Xl 4,000,000& 4,000
307 gl2tol & 289,883 311,673 A21,790
02 It S AHE L 70,774 70,964 A 190
OES¢tH AtZHl XI& 70,774,000& 70,774
03 QIAHNHE2IHIEE 219,109 219,109 0
OsHHd 2gdl XN& 219,109,000 219,109
FESIA=E 2 AMERAZZ N 2,133,000 2,276,400 A 143,400
Al 1,314,000
- 819,000




SN 2
Ha: 20t 22 el ¥ X
|. =]

el =20 Z CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 LEHZ 2,133,000 2,276,400 A 143,400
Al 1,314,000
- 819,000
12243 2,133,000 2,276,400 A 143,400
ORI =4 130,000& *1,350H x12& 2,106,000
Al 1,296,000
- 810,000
ORI ALRZ2S 300,000& x90H 27,000
Al 18,000
T 9,000
SNHEEUHAT =2 & AEAZ2S N 1,169,600 984,000 185,600
Al 383,400
- 786,200
301 EEH = 1,169,600 984,000 185,600
Al 383,400
- 786,200
12 JIEBHE4 = 1,169,600 984,000 185,600
O=zl<=+% 80,000& *720H «12& 691,200
Al 259,200
T 432,000
Odszdrsxd 100,000& x155H 123 186,000
Al 93,000
- 93,000
O=8ER3N4 ZH=< 100,000& »52H » 12& 62,400
Al 31,200
T 31,200
Onzdaia=d 50,000& *2,220% »23| 222,000
OB AIZRZ2S 200,000& »40H 8,000
MI=R2F 22l 1,021,841 1,004,945 16,896
= 1,021,841
ME2HE X& 1,021,841 1,004,945 16,896
= 1,021,841
AN ERHE XI& 1,021,841 1,004,945 16,896
= 1,021,841
301 EEEd = 1,021,841 1,004,945 16,896
= 1,021,841
0B A =R RAB A4S 1,021,841 1,004,945 16,896
OF=10; 906, 180, 000& 906, 180
= 906, 180
Ounstl 92,430,000 92,430
= 92,430
o=l 23,231,000& 23,231
= 23,231
XS ASI2E I8 =g 376,653 305,752 70,901
NAAe 2 2435t 331,123 305,752 25,371




2N
X ZH -
L= B

el

SA-ZH () - HRAY - BES Off &4 %Ei Hnsz
MeiAS 2 =S o B} 53,924 8,040 45,884
201 LBt A Y| 1,134 3,240 ~2,108
01 At 2/t 1,134 1,440 308
OB} 22t 1,134
o NIGANBBHHE HI M
18,0002 *70%%0.9 1,134
203 2 E A Y| 2,790 3,100 A310
03 Al Z=ZI R E R Y| 2,790 3,100 A310
OSNFHEX AMEXALEFY|
2,790,0002 2,790
308 XHXI €+ RIS 01 & 50,000 0 50,000
11 B 2SO0l 0h B & = 2|t Ab et b 50,000 0 50,000
OM5Il MAAEI2BRHE =8 50,000,000 50,000
NeiAsleZe i 29 113,609 169,902 ~56,293
201 LBt H Y| 43,620 43,355 265
01 AtR 22/t 43,620 43,355 265
OYbta gy 5,240
o NIH=SX XA e-= 2l 2,000,000 2,000
o NGNS AST K
18,0008 *20024 %0.9 3,240
osgsy 38,380
o NEECIX 819 4 70,0008 *28% x43] 7,840
o 2SI 819 &Y 70,0008 +8F +123] 6,720
o ASEOIX B9 &Y 70,0008 x4 x43] 6,720
0o SAVFEAM B9 2g
70,0002 * 152 *63] 6,300
0o URE BELY 30,0002 *60 2 *63] 10,800
307 2I2HOI & 69,989 126,547 56,558
02 BIAMAMHEE 19,998 23,640 ~3,642
OXAANSBHE AN 2 19,998
o NHASISEEOIH S8l 19,998,002 19,998
03 QIANCHHY2SHY B E 49,991 46,907 3,084
O AS SZEOIF 2HAH 21248
49,991,000 49,991
MBS ZE JIG#AL S X2 33,300 0 33,300
307 212H0I & 33,300 0 33,300
04 DIZHEHAFAFR 2 33,300 0 33,300
OMBIZXI2 & JIE A L AEI= X223
22,500,000 22,500
OME=XJI2 SAX 22DS 10,800,000 10,800
S NAMNSBHEAH 22 107,190 127, 160 A 19,970




SN =SXHHD

g NS A2 J|gt =d

e XNGAS 28 &4d3) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 107,190 124,600 A 17,410
01 AP 22| H| 107,190 111,160 N 3,970
Ogst=2H| 270
0 R9A ZEEHE HH 18,000& x15H 270
O =, 106,920
0= ANGAMIBHEAN 2gE
30,000 *x22H 151 S+ 128 *0.9 106,920
XN 22 600 650 A B0
201 LBt ]| 600 650 B0
01 AP 22| d| 600 650 A B0
OUsHael 2ZFAFIH A & 120, 000& *5JH 600
Ol20t8e 27| ZU s 24H QN (F 00l aH) 22,500 0 22,500
201 et Y| 22,500 0 22,500
03 A2 HH| 22,500 0 22,500
O0|RetE 27| ZU s 21H QN (FH 00l A)
22,500,000 22,500
SZ2MIE2EX HEHHMNA 45,530 0 45,530
Z0lJl= SEXAHA XS 45,530 0 45,530
405 XHAHF S HI 45,530 0 45,530
01 AL 2 Z F S| 45,530 0 45,530
Oz0ItE 2XNANEIA XK 45,530,000 45,530
SEASEXNS g2 & X 3,618,768 3,516,555 102,213
Al 2,912,511
- 706,257
S AT EXNE 2Y 3,618,768 3,516,555 102,213
Al 2,912,511
- 706,257
SEAZ =X 2 SEMAISHI 272,760 238,500 34,260
307 2izto| A 272,760 238,500 34,260
11T AISIEXAIEEX 272,760 238,500 34,260
OSEMII=X 2 SMAISHI 272,760,000& 272,760
SEAZEXN22E N 3,248,320 3,142,086 106,234
Al 2,869,676
3 378,644
307 QI2t0| ™ 3,248,320 3,142,086 106,234
Al 2,869,676
- 378,644
10 MM SAANEEHESIGHEX 3,014,512 2,878,278 136,234
O MI=X2 9| 226,608,000 226,608
Al 198,282
- 28,326




2N
X ZH -
L= B
el

5 - 4
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
OZEAtal= X2t lAH| 2,786,448,000& 2,786,448
Al 2,466,812
- 319,636
OZeAe =SR2 A =X AL E=1=H|
28,0003 52X 1,456
11T M3 SXAISEEX 233,808 263,808 A30,000
OZgAglSXa 220822
233,808,000& 233,808
Al 204,582
- 29,226
SMIERZ IS 40,270 104,548 AB4,278
Al 20,135
- 20,135
402 RIZFXt20l ™ 40,270 104,548 AB4,278
Al 20,135
T 20,135
02 RIZt X2 AL EZ (01X ) 40,270 104,548 A64,278
OSEAsEX2 JIsEZ 40,270
oNEx(HSBEASSAZ StEA HES)
31,570,000& 31,570
Al 15,785
T 15,785
U2 (N BSEME=XN2 “FHFH
wi) 8,700,000& & 8,700
Al 4,350
T 4,350
S M SN2 SAR SXE = 10,250 9,950 300
Al 10,250
307 21201 A 10,250 9,950 300
Al 10,250
11T AIS S XAEE = 10,250 9,950 300
OZEAte=X2 ML SXE =+
10,250, 000& 10,250
Al 10,250
SEASI SN2 SALL SEAHZH X 7,600 4,600 3,000
Al 7,600
307 21201 A 7,600 4,600 3,000
Al 7,600
11T MISXAEE 7,600 4,600 3,000
AMEIEX2t SALL SEAZE T
7,600,000 7,600
Al 7,600
AMEISXAIE SAX dEE X 4,850 4,540 310
Al 4,850
307 21201 A 4,850 4,540 310
Al 4,850




SA: 2X™ 2
Ha: ZSAMEENT 2yl L N
e SEAENS 2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
11T A EXAIEEX 4,850 4,540 310
OAZEXAIE () SM HolEgz2 Xd
10,000 x485H 4,850
Al 4,850
AEotAE 22| BE 2H A H| 34,718 0 34,718
308 XAHXIEHSOIA 31,825 0 31,825
1122 SUHUSHEAEAE AT Y| 31,825 0 31,825
OAlEotM 22| B E & AN HI 31,825,000 31,825
403 XX SHHS K20 & 2,893 0 2,893
02 2I2SOHUSA=2EAEAIS Y 2,893 0 2,893
OAlEorM2te| S st A 2,893
I =ME 8 & 33,844 653,655 A619,811
AESI)|ZMESZ 33,844 653,655 A619,811
2ol X 8,000 5,900 2,100
201 gEt24Hy| 1,100 900 200
01 AP 2t 2] H| 1,100 900 200
OFRAD AR AlE3 10| 1,100,000& 13| 1,100
301 et ™M= 6,900 5,000 1,900
01 Al E&E A 2623 6,900 5,000 1,900
Oogzol XK (X2, &olHl, S|,
Hl) 9 6,900
e-JJERH Y= 25,844 26,882 A 1,038
201 et 25,844 26,882 A 1,038
02 23244 25,844 26,882 A 1,038
O2322 % HA 25,844
o REYLs=2 2,070,000& ~12& 24,840
0 SJIRH Bt 2,100 2024 x12& 504
o0 SMSEXAMHIA &2 102 «50,000AH 500
AMBIEX HHIA L AAH ST 2,715,879 2,998,296 N282,417
= 89,320
oy 1,491,000
Al 629,433
- 506, 126
XS AS AP ASEAMALS 2,130,000 2,409,201 N 279,201
Fag 1,491,000
Al 319,500
- 319,500
KNAXESE AISIAH A EXFAFS (221H]) 5,000 5,000 0
Fag 3,500
Al 750
- 750




SN =NEH
M AN S AMHIA L AH Y
2 XEAS AHEIASEAALS (&
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
201 Bt 5,000 5,000 0
Fag 3,500
Al 750
- 750
01 AP 22| H| 5,000 5,000 0
OXYAS HEIA EXAIY 29|
5,000,000& 5,000
Fag 3,500
Al 750
- 750
KNAXES AISIAHIA EXFAY (AFSH]) 2,125,000 2,404,201 N 279,201
= 1,487,500
Al 318,750
- 318,750
307 2Iz2to| & 2,125,000 2,404,201 N 279,201
g 1,487,500
Al 318,750
- 318,750
05 QIZ2tREF 2 2,125,000 2,404,201 N 279,201
OXDAS A A EXALY 2,125,000,000& 2,125,000
Fag 1,487,500
Al 318,750
3 318,750
Abedl 22l 131,600 298,233 A\ 166,633
= 89,320
Al 21,140
- 21,140
SHE UFY S AHA I 117,600 117,600 0
= 82,320
Al 17,640
- 17,640
201 2Et24Hy| 58,800 58,800
= 41,160
Al 8,820
- 8,820
01 AP 22| d| 53,137 53,137
OAldl &2l 2dH| 53,137,000 53,137
= 37,196
Al 7,971
- 7,970
02 2224 H| 5,663 5,663
Ot XIZ0l AtE2 5,663,000& 5,663
= 3,964
Al 849
- 850
301 et A =2 58,800 58,800
= 41,160




2AH: SRS
M M =X MAHIA 2 HA =
S At 2el (¢t
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 8,820
T 8,820
01 MEI2BZE+06l= 58,800 58,800 0
OAtell 2telti &t SXIAMEA X
58,800,000& 58,800
= 41,160
Al 8,820
T 8,820
AT SEAtdlZel X 14,000 12,000 2,000
= 7,000
Al 3,500
T 3,500
101 1244 dl 2,000 2,800 A 800
= 1,000
Al 500
T 500
03 I AHAx2 22+ 2,000 0 2,000
O 04l 2,000,000& 2,000
= 1,000
Al 500
- 500
201 Let24d] 7,800 5,600 2,200
= 3,900
Al 1,950
- 1,950
01 At 22/l 7,800 5,600 2,200
OAtell2el 22l 7,800,000& 7,800
= 3,900
Al 1,950
T 1,950
301 LEEXZ 4,200 3,600 600
= 2,100
Al 1,050
- 1,050
01 MEIBZE 05z 4,200 ,600 600
OAtellZelti & Xt SXIAMEIAXIE 4,200,000 4,200
= 2,100
Al 1,050
- 1,050
SXA KO & 53,600 3,000 50,600
Al 50,600
- 3,000
SAARIUE= 22 53,600 3,000 50,600
Al 50,600
T 3,000
201 Let2d] 3,000 3,000 0
01 At 22l 3,000 3,000 0




SN =NEH
M MR MHIA D AAH SO
el SXNAMAXN 2= (&
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OSXAZLXN &= 29 E2H 3,000,000& 3,000
307 21201 A 50,600 0 50,600
Al 50,600
11 AISI S XA E X 50,600 0 50,600
OFAAHE BHXNGHA=AL &30 XNE &X
50,600,000& 50,600
Al 50,600
JIRAE HAMY X 342,394 260, 862 81,532
Al 204,743
T 137,651
JIRAZ AAME X3 275,302 260,312 14,990
Al 137,651
T 137,651
307 glz2+ol & 275,302 260,312 14,990
Al 137,651
T 137,651
11 AISISAAISEE = 275,302 260,312 14,990
OJIRAS & MBAY 275,302,000 275,302
Al 137,651
- 137,651
FoY3a 2 0N ML SXES 550 550 0
Al 550
307 21201 A 550 550 0
Al 550
1A S XA E X 550 550 0
OFEY3 & O3 SMK EXNE =
550,000& 550
Al 550
FCoY3 & DIUSAL 22H & 400 0 400
Al 400
307 21201 A 400 0 400
Al 400
11 AISI S XA E = 400 0 400
OFEYW3 & OIASAR A2 A&
400,000& 400
Al 400
s 03 AFS XA (Al =0TE0 0l &) 66,142 0 66, 142
Al 66,142
307 2Iztol A 66,142 0 66, 142
Al 66,142
11T AISI S XA E X 66,142 0 66,142
OYs ZS0t2 AP X2 (Al F=2IEO 0f &)
66,142,000 66,142
Al 66,142




2N

M M =X MAHIA 2 HA =
&S STEXNFE ALY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SH=ENFE ALY 23,000 27,000 A4,000
Al 23,000
ROt SZHEAMEA X&A 23,000 27,000 A4,000
Al 23,000
307 21201 A 23,000 27,000 A4,000
Al 23,000
11T ALS S XAEE = 23,000 27,000 A4,000
O&0tIte SLTHMEAEIA XI& 23,000,000 23,000
Al 23,000
DEMUY XSS ML =M 35,285 0 35,285
Al 10,450
T 24,835
D=EMUY SEEE MHlA =20 35,285 0 35,285
Al 10,450
- 24,835
201 LBH2EH| 4,835 0 4,835
02 =224l 4,835 0 4,835
OHMLEDHAN S RANEs & 2l
4,835,000 4,835
301 LEHZ 10,450 0 10,450
Al 10,450
01 MEI2EZE 06z 10,450 0 10,450
OFAAHE DA Z2lAAH” S
10,450, 000& 10,450
Al 10,450
307 gl2tol & 20,000 0 20,000
11 ALS S XAEE = 20,000 0 20,000
OD=A WA 20,000
o SEA=EXNZ DAY St T2 IH
20,000,000& 20,000
Nass a2ty & 1,426,034 1,267,800 158,234
= 1,043,700
Al 250,463
T 131,871
HASE 2= NE 1,426,034 1,267,800 158,234
= 1,043,700
Al 250,463
T 131,871
==X 1,306,034 1,147,800 158,234
= 1,043,700
Al 130,463
T 131,871
201 LBH2d| 1,408 3,300 A 1,892
01 At 2t 2l 1,000 3,000 A2,000




SN =2XEYY
HE: HASS MBOUF N
S 4SS AS=X X EERED
_ (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2sXd Uy &2 24| 1,000, 000& 1,000
02 2324l 408 300 108
OstiER=s 408,000& 408
301 gEd = 1,304,626 1,144,500 160, 126
= 1,043,700
Al 130,463
- 130,463
01 MEI2EZE 06z 1,304,626 1,144,500 160, 126
225X K& 1,304,626,000& 1,304,626
= 1,043,700
Al 130,463
- 130,463
S0S EXNHHUE 120,000 120,000 0
Al 120,000
301 LEEAS 120,000 120,000 0
Al 120,000
01 MEIBEEE 2053 120,000 120,000 0
OS0S EXNHHHE 120,000, 000& 120,000
Al 120,000
HE2IAZH (S 321,276 50,369 270,907
= 82,290
Al 41,145
- 197,841
JI2ZH(SXE ) 42,169 50, 369 A 8,200
Jl2Z38l MEAY(SXE2) 42,169 50, 369 A 8,200
201 et 22,105 24,109 A 2,004
01 At 22l 22,105 23,329 A1,224
OgBt=&H| 54,5903 x18H«12& 0.9 10,613
OF=x=4 29| 200,000& x12& 0.9 2,160
Oz &l 8,000 x18H 641 «12& +0.9 9,332
202 (4 Hl 11,664 16,320 A 4,656
01 = LH 4 b 11,664 16,320 A 4,656
O=& 0l 10,0003 x18H 62 x12& 0.9 11,664
203 R =& 8,400 6,900 1,500
01 122 =4 4,800 3,300 1,500
OJlZ2g g2 =8| 4,800,000& 4,800
04 FANSEHE=LH 3,600 3,600 0
ORN2EYR=AHI 300,000& »12& 3,600
A 2AHI(SXE ) 279,107 0 279,107
= 82,290
Al 41,145
- 155,672




re 02 Ji
J¥ 0x A
H0 Mo 0

=]

02 09 J%
oY
o &
=
A

J2 oA
J

S
— &

=5

J
0

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
A2 (S A2l A 2124d] X&) 279,107 279,107
= 82,290
Al 41,145
- 155,672
101 @14 dl 279,107 279,107
= 82,290
Al 41,145
- 155,672
03 RIAHAZ 2T E =+ 279,107 279,107
O S At &2tel AL el 2| 194,114,990& 194,115
= 82,290
Al 41,145
- 70,680
OsSEAd 2tel A & &3 84,991,810& 84,992




= A
A & 0l & AF 2 E A A
A A EE
M 2O ZMEEE QY
H?: MASSIHZMEEH N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A3 2 & Dt 38,994,024 38,675,397 318,627
= 34,276,883
s 207,648
Al 2,803,808
2 1,705,685
D=2 N 33,610,489 33,031,116 579,373
= 29,959,172
Al 2,322,101
- 1,329,216
HASESI=Ha88F X 33,610,489 33,031,116 579,373
= 29,959,172
Al 2,322,101
- 1,329,216
FRLISORNFAAY 142,724 120,000 22,724
= 142,724
301 LA F 142,724 120,000 22,724
= 142,724
01 AR 2Z A 53 142,724 120,000 22,724
OFS U HOAXAAY byl
142,724,000& 142,724
= 142,724
HAS K 32,926,170 32,345,680 580,490
= 29,633,553
Al 2,304,832
- 987,785
301 LA F 32,926,170 32,345,680 580,490
= 29,633,553
Al 2,304,832
- 987,785
01 MEIBEEE 263 32,926,170 32,345,680 580,490
OMASN 32,926,170,000& 32,926,170
= 29,633,553
Al 2,304,832
T 987,785
ME= = | 21,845 30,684 A 8,839
308 AHAIEHHSOIA 21,845 30,684 A 8,839
08 WSII20HetE = 21,845 30,684 A 8,839
OussH 21,845,000 21,845
oAM= 203,216 201,988 1,228
= 182,895
Al 14,225
T 6,096
301 LEEAZ 203,216 201,988 1,228
= 182,895
Al 14,225
T 6,096




AN MBI EE D
M. 20/J| M

Sl HAS

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 203,216 201,988 1,228
Ol EHSA 203,216,000& 203,216
= 182,895
Al 14,225
- 6,096
SE X AL2te 10,116 11,196 A 1,080
201 Let2d] 396 396 0
02 2324l 396 396 0
Os4ll 33,000 128 396
202 04l 9,720 10,800 A 1,080
01 = LH 4 Hi 9,720 10,800 A 1,080
OSE AL EE0IHI
10,0003 x9H x 102 x12& 0.9 9,720
M0 BEH s§ XA 112,040 102,780 9,260
301 LEEAF 112,040 102,780 9,260
01 AR 2Z A 53 112,040 102,780 9,260
oMl sEH 25 XA 112,040
o LEt=a Xt 285% *5,460Jt 2 =600 122 112,040
Tael HE XA 144,860 133,000 11,860
301 LPEAZ 144,860 133,000 11,860
01 MEIBEE 2053 144,860 133,000 11,860
OMASE AL EEE & FIRIEE=
144,860,000 144,860
AMZIEX &R =& 2,430 2,700 A 270
203 YR =& 2,430 2,700 A 270
03 AIMZ=XH S =AY 2,430 2,700 A 270
OMBI2X 22 ANBERADET Y|
2,700,000& x0.9 2,430
HAas Hza gL XA 47,088 83,088 A 36,000
Al 3,044
=) 44,044
301 LEHZ 47,088 83,088 A 36,000
Al 3,044
=) 44,044
01 MI2EZE+5l= 47,088 83,088 A 36,000
ONAS Lo Sl YSRVE =223
41,000,000& 41,000
OMASE kol Sl 22g3 6,088,000 6,088
Al 3,044
- 3,044
A& X2 ALY 5,265,860 5,538,583 N272,723
= 4,317,711




AN MBI EE D
3 XA

2 HASE UE XN (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
e 207,648
Al 481,707
T 258,794
HASE A& NE 5,265,860 5,538,583 N272,723
= 4,317,711
s 207,648
Al 481,707
- 258,794
E22 3,615,587 3,592,030 23,557
= 3,201,659
Al 289,735
- 124,193
301 LBEHZ 1,084,676 1,077,609 7,067
= 960,498
Al 86,920
- 37,258
01 MEI2EZE+05l= 1,084,676 1,077,609 7,067
oxngz=z 1,084,676,000& 1,084,676
= 960,498
Al 86,920
- 37,258
307 21201 A 2,530,911 2,514,421 16,490
= 2,241,161
Al 202,815
T 86,935
11T M3 SXASEEX 2,530,911 2,514,421 16,490
oxg=2z2 2,530,911,000& 2,530,911
= 2,241,161
Al 202,815
T 86,935
AHE ARl 2t 2] 28,989 28,604 385
= 20,292
Al 4,348
- 4,349
307 glz2tol & 28,989 28,604 385
= 20,292
Al 4,348
- 4,349
11T M SXAISE EX 28,989 28,604 385
ORXH& At 2tel 28,989,000& 28,989
= 20,292
Al 4,348
- 4,349
EEHS 38,308 310,415 A272,107
= 34,328
Al 2,786
T 1,194




AN MBI EE D
3 XA

Sl HASS g X (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 38,308 310,415 A272,107
= 34,328
Al 2,786
- 1,194
01 MEI2EZE %06z 38,308 310,415 A272,107
OoXgzz2dd3 38,308,000& 38,308
= 34,328
Al 2,786
- 1,194
S|YE(job)Ot ZENE 15,000 15,000 0
Al 15,000
307 21201 A 15,000 15,000 0
Al 15,000
11T MISAASER 15,000 15,000 0
Og 2 &E(job)ot Z2HE 15,000, 000& 15,000
Al 15,000
ANEXtgdy 29 333,254 333,818 A 564
= 233,063
Al 49,942
- 50,249
307 21201 A 333,254 333,818 A 564
= 233,063
Al 49,942
- 50,249
10 M2 SXNANEHE2IHEX 333,254 333,818 A 564
OXYxady 29 331,506, 000& 331,506
= 232,055
Al 49,726
T 49,725
O3JIEEI Uz 1,440,000 1,440
= 1,008
Al 216
- 216
OAg =S XA EW=Hl XI& 28,0003 «11H 308
NATEHEHSAXL d=2H =& 13,400 6,810 6,590
Al 6,700
- 6,700
307 glz2tol & 13,400 6,810 6,590
Al 6,700
T 6,700
10 AL SXAIEEE 2 H EX 13,400 6,810 6,590
OXNGREHdHEAXN dSEXHE
13,400,000 13,400
Al 6,700
T 6,700
NAXEEHSAA SXE 2,350 2,150 200




AN MBI EE D
3 XA

L2EE NE XN

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
Al 2,350
307 glz2tol & 2,350 200
Al 2,350
11T M SXAISE EX 2,350 200
OXN<GXadEe SALA SX 2,350,000& 2,350
Al 2,350
AREE ASIMUHIA SXALY (DHAIZFE B2 X & A 296,640 £23,312
o)
s 207,648
Al 44,496
2 44,49
307 g1+l & 296,640 AN 23,312
s 207,648
Al 44,496
2 44,49
05 RIZHRI & 3 296,640 A23,312
OIMUEL 2 ER0IALY 296,640,000& 296,640
s 207,648
Al 44,496
=) 44,496
2ZsgJAesr=S N2 920,532 A8,072
= 828,369
Al 64,550
T 27,613
307 21201 A 920,532 28,072
= 828,369
Al 64,550
T 27,613
11T M SRASEEX 920,532 A8,072
O8NS sE | 209,871,000& 209,871
2 188,865
Al 14,710
- 6,296
OosLIsSZ I 379,139,000& 379,139
= 341,225
Al 26,540
- 11,374
ougIssE 34,123,000 34,123
= 30,710
Al 2,389
T 1,024
OFUYsWISEE 122,970,000& 122,970
= 110,673
Al 8,608
- 3,689
OFY NS A 174,429,000& 174,429
= 156,896
Al 12,303




AN MBI EE D
3 XA

gelr MASE UE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| - 5,230
NAXEEE SAX SH &8 X2 1,800 1,200 600
Al 1,800
307 gl2tol & 1,800 1,200 600
Al 1,800
11T M SRASE EX 1,800 1,200 600
OXGXadE SAA S &8 XA
1,800,000 1,800
Al 1,800
A2 LI (AL 2 Z 1) 94,012 94,672 A 660
Jl2Z I (ALsl 2 &) 48,992 58,358 A9,366
Jl2Z8l MEAY (AFZ & 1) 48,992 58,358 A9,366
201 et 32,528 36,098 A 3,570
01 At 2teltl 32,132 35,702 A 3,570
Ogt=&H| 54,5003 «29 x12& 0.9 17,098
o=l 8,000 *29H x6 41«12 x0.9 15,034
02 2324l 396 396 0
Os4ll 33,000& 128 396
202 O4dl 11,664 17,280 25,616
01 = LH 4 Hi 11,664 17,280 25,616
OZEF0HI 10,0003 x18F 62 x12& 0.9 11,664
203 YR =& 4,800 4,980 A 180
04 FN2ELSZ=TH 4,800 4,980 A 180
ORAN2EYE=AH 400,000& 123 4,800
A 2EHI(ALSI 2 & 1t) 45,020 36,314 8,706
olARAHEl MSPAY (At 2 Z D) 45,020 36,314 8,706
101 @144 dl 45,020 36,314 8,706
03 RIAHAZZ2HE = 45,020 36,314 8,706
O3RAMZZX(458) 45,020
oJlE=a 1,884,440 128 22,614
o Az2tel==¢ 14,4573 «x30A 2+ 123 5,205
o dHUZAlH 130,000& = 12& 1,560
o EEFOtHI 1,130,660& 22| 2,262
o AXtRa=+¢ 77,1043 15 1,157
o 2=¢ 282,660 x23| 566
o NE==E 40,0003 +12& 480
o &3 11,135,076 & 11,136
o M= AtHI 20,000& »23| 40
MEES(AZE D) 23,663 11,026 12,637
WEAHAHXKS (M EED) 23,663 11,026 12,637




AN MBI EE D

H: HRES(MIEZ)
el WRAHHXS (M EZD) (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HEHAHXE HE2AS(ALS E &) 23,663 11,026 12,637
701 JIEtel HSHES 23,663 11,026 12,637
01 JIEtSl HEES 23,663 11,026 12,637
Ogdz2s0 EL83H d&3 23,663
o S5F2% =cl=4l 20,263,000 20,263
o JIZtHIZ22 X MHELYSEMS  3,400,000& 3,400




== A
N & o & AF & H Al A
SAM: ol EOHel Dt
Mo mojol =X =
el mOjOIMEBOIET R CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
L OV ZHOH o1 It 134,972,746 124,598,132 10,374,614
= 81,084,190
Al 30,506,797
- 23,381,759
ZoHel =X 52 25,853,379 25,262,471 590,908
= 16,622,380
Al 4,735,308
- 4,495,691
ZOH QI M 2O H K| & 10,199,217 9,085,675 1,113,542
= 6,616,271
Al 1,942,569
- 1,640,377
HASEOHe ety & AAH X2 (HMHUSEXMH 5,307 6,369 21,062
HI)
= 2,653
Al 1,327
T 1,327
301 LBEXZ 5,307 6,369 A 1,062
= 2,653
Al 1,327
T 1,327
01 MEIBZE 406z 5,307 6,369 A 1,062
O&oel S5 & 5,307,000 5,307
= 2,653
Al 1,327
- 1,327
lZEHOIA +=X& 8,500 15,000 A 6,500
Al 4,250
- 4,250
301 LPEAF 8,500 15,000 26,500
Al 4,250
- 4,250
01 MEIBE X253 8,500 15,000 26,500
Oo3gHolz ==X 8,500,000& 8,500
Al 4,250
T 4,250
= (Ilx) X2 750,909 694,225 56,684
= 525,635
Al 112,637
- 112,637
301 EEHZ 750,909 694,225 56,684
= 525,635
Al 112,637
- 112,637
01 Ml2EZE 6= 750,909 694,225 56,684
OJxZZMH=E 750,909, 000& 750,909
= 525,635




A el Zoel
Mo mojol =X =
el mOjOIMEBOIET R CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 112,637
T 112,637
ZU=g (a2 S) A= (HHotsx=L2E) 346,300 313,139 33,161
= 242,410
Al 51,945
- 51,945
301 LEHZ 346,300 313,139 33,161
= 242,410
Al 51,945
- 51,945
01 MI2EZE 06z 346,300 313,139 33,161
OXaAZ == (HOOtS+=HELE)
346,300,000 346,300
= 242,410
Al 51,945
T 51,945
Foperel =4 X & 79,710 79,710 0
= 63,768
Al 7,971
- 7,971
308 AHAIEHHSOIA 79,710 79,710 0
= 63,768
Al 7,971
- 7,971
113/ 2SoHUHSZHEAEALS I 79,710 79,710 0
O&oele=dl XI& 79,710,000& 79,710
= 63,768
Al 7,971
- 7,971
ZFHUAS EE2S MZE 900 1,000 A 100
201 Lt 900 1,000 A 100
01 At 22l 900 1,000 A 100
OHelH=s 2= M 900,000& 900
ZFHAZE SH X2 6,438,115 6,064,541 373,574
= 4,506,681
Al 965,717
- 965,717
301 LA F 6,438,115 6,064,541 373,574
= 4,506,681
Al 965,717
- 965,717
01 AR 2Z A5 3 6,438,115 6,064,541 373,574
Oz 6,438,115,000& 6,438,115
= 4,506,681
Al 965,717
T 965,717




2N
X ZH -
L= B

el

e oA
2
n e
&

0 02 H-
2211
O

=

e
e -
02 O

Pl pal

F
0:
{0

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
oo SXNRIS 29 1,680 1,680 0
201 gBt24d| 1,680 1,680 0
01 AP 22| H| 1,680 1,680 0
OBMASNAE 2G4+
70,000 12 x23| 1,680
Z0HQ MEXRBAEEZ 47,520 47,520 0
Al 23,760
- 23,760
301 et ™M= 47,520 47,520 0
Al 23,760
- 23,760
01 Al E& A 2523 47,520 47,520 0
OMASEC MENBAME 23
47,520,000 47,520
Al 23,760
- 23,760
OOl USFE DA ALY 10,000 20,000 A 10,000
401 Al HI L 2 0HHI 10,000 20,000 A 10,000
01 Al& H| 10,000 20,000 A 10,000
OZofel St==Fed 2@ AFY 10,000,000 10,000
OIS XIAIZH 22X ME 1,800 4,550 N2,750
201 gBt24Ay| 1,800 4,550 N2,750
01 AP 22| H| 1,800 4,550 N2,750
OXHMHASKIAIM 2= HE
4,000 4008 +0.9 1,440
OA2EE EXEE2 M2
40,0002 %108 +0.9 360
SSHMHIMH B RS 299,586 300,564 N978
Al 299,586
301 et M= 299,586 300,564 AN978
Al 299,586
01 Al E& A 252 299,586 300,564 N978
OZSHHUMHEXLE 299,586,000 299,586
Al 299,586
BRIINFUE(MHEEXIR) 14,000 17,000 A 3,000
= 11,200
Al 1,400
- 1,400
301 et A = 14,000 17,000 A 3,000
= 11,200
Al 1,400
- 1,400
01 Al E & A 462 14,000 17,000 A 3,000




A el Zoel
Mo mojol =X =
el mOjOIMEBOIET R CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFOH HEEXIFWE AFY 14,000,000 14,000
= 11,200
Al 1,400
T 1,400
HHLEXE B2™ ALY 4,320 6,579 A 2,259
= 3,024
Al 648
- 648
308 XXM SOIA 4,320 6,579 A2,259
= 3,024
Al 648
T 648
13 2SOHetE & X 2 AL I 4,320 6,579 A2,259
OdggXd b2 H 4,320,000 4,320
= 3,024
Al 648
T 648
HeZHel s4HIEXE 6,000 9,001 A 3,001
= 4,200
Al 900
- 900
301 LEd = 6,000 9,001 A 3,001
= 4,200
Al 900
- 900
01 Ml2ZE 6= 6,000 9,001 A 3,001
O&Zfel s4HIE XA 6,000,000& 6,000
= 4,200
Al 900
- 900
LLMEAMLA BRH X2 (HOH0IS HEXZ) 637,200 719,018 A 81,818
= 446,040
Al 95,580
T 95,580
308 XXM SO A 637,200 0 637,200
= 446,040
Al 95,580
T 95,580
3 2S0HetE & XA A I 637,200 0 637,200
OHols MEXZ 637,200,000 637,200
2 446,040
Al 95,580
- 95,580
LN RFRAEXH 5,714 1,905 3,809
= 4,000
Al 857
T 857




M Lol &0H el It
Mo mojol =X =
EHel: QI MEM XA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
308 XHXIEHSO|A 5,714 1,905 3,809
= 4,000
Al 857
- 857
112/ 2SUHUSHE A XEAE AT Y| 5,714 1,905 3,809
Oga e A aASXE 5,714,000 5,714
= 4,000
Al 857
5 857
S HR F2HES MU A 771,227 170,127 601, 100
= 539,271
Al 115,558
- 116,398
201 et Y| 840 840 0
01 AP 22| d| 840 840 0
OLLHMO FAHEMUA 2 THA S
249 70,000 12 x123] 840
308 XHXISHH SO0l & 770,387 169, 287 601, 100
= 539,271
Al 115,558
- 115,558
11 B 2SHUSEANE AIS Y 770,387 169, 287 601, 100
OYe & F=2tE S AHIA 770,387,000& 770,387
= 539,271
Al 115,558
- 115,558
LA A F2AE S AHHIA 263,088 84,586 178,502
Al 131,544
- 131,544
307 212t0| & 263,088 0 263,088
Al 131,544
- 131,544
02 QIZHBAAIE E X 263,088 0 263,088
O X AIZFI F=2HESHHIA
263,088,000& 263,088
Al 131,544
- 131,544
SRR 2SS ESAMHA 381,983 288,673 93,310
= 267,389
Al 57,297
- 57,297
308 MXISHMSOIA 381,983 288,673 93,310
= 267,389
Al 57,297
- 57,297
11 Z2I| 2S00 UsHEAXAE A S| 381,983 288,673 93,310




2N

Mo mojol =X =
el mOjOIMEBOIET R CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oggzofel gus ssMHA
381,983,000 381,983
= 267,389
Al 57,297
T 57,297
QIO =S 560 560 0
201 ¢er24| 560 560 0
01 At 22l 560 560 0
OolAAMN MHYTns 280,000& »23] 560
SAIE O TS EHMAL K 5,459 5,300 159
Al 5,459
301 LEAZ 5,459 5,300 159
Al 5,459
01 MEIEBEZE 06z 5,459 5,300 159
OEAE ZoHe NE@EE 4Ad X
5,459,000 5,459
Al 5,459
EZT04Q 24AI2 HEXH 72,040 234,628 162,588
Al 36,020
T 36,020
308 XX EH SOl A 72,040 234,628 A 162,588
Al 36,020
- 36,020
113/ 2SoHUHSZAEEALS I 72,040 234,628 A 162,588
OZSZ T 24A12 2K 72,040,000 72,040
Al 36,020
- 36,020
ZOHel SOlmHA ZHSHLI| XA 12,927 0 12,927
Al 12,927
301 LA S 12,927 0 12,927
Al 12,927
01 MEIBEE 253 12,927 0 12,927
OHOHe! otolHA ZdHE2I] X&
12,927 ,000& 12,927
Al 12,927
OIS =ES HEHHS At 10,372 0 10,372
Al 5,186
T 5,186
308 XXM SOIA 10,372 0 10,372
Al 5,186
T 5,186
N 3JN2SUHUe3AHAE A 10,372 0 10,372
OHUMUSES HEHS ALY 10,372,000& 10,372
Al 5,186
- 5,186
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el
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
LEINSY HMSEAXE A 24,000 0 24,000
Al 12,000
- 12,000
301 LEd = 24,000 0 24,000
Al 12,000
- 12,000
01 Ml2ZHE 6= 24,000 0 24,000
OggHH NS XF ALE 24,000,000 24,000
Al 12,000
- 12,000
QI2HALS EHHIE O X & 74,678 74,678 0
QIZEALSI S M 2l S A AL X & 74,678 74,678 0
307 glz2tol & 74,678 74,678 0
02 It MAMHEE 49,534 49,534 0
OZOHQEHH Z&ARH 22X 49,534,000 49,534
03 AHHEE2IHIES 25,144 25,144 0
OFOHUEH HE2EH EX 25,144,000 25,144
HOoHel LXtel X2 15,480,848 14,063, 983 1,416,865
= 10,006, 109
Al 2,764,039
- 2,710,700
ZONlY el K& (SXLXtel) 256,687 240,816 15,871
= 128,344
Al 64,171
- 64,172
101 @14 dl 189,459 180,612 8,847
= 94,730
Al 47,364
- 47,365
04 JIZHHZ2XREE S 189,459 180,612 8,847
O&0MdE =sXLRtel 189,459, 000& 189,459
= 94,730
Al 47,364
- 47,365
307 glz2+ol & 67,228 60,204 7,024
= 33,614
Al 16,807
T 16,807
05 RIZt2IE = 67,228 60,204 7,024
OExu=s-SXaH" 2Ll
67,228,000 67,228
= 33,614
Al 16,807
- 16,807
ZOHQI L Xtel K (Lot Xtel) 755,958 688,558 67,400




AN el 04t
PN

Mo mojol =X =
chel: ZOoHel LXiel X CEERED)
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
= 377,979
Al 188,990
- 188,989
101 124 H] 755,958 688,558 67,400
= 377,979
Al 188,990
- 188,989
04 JI2ZtHIZ22NEE S 755,958 688,558 67,400
OZtof el LBts 2 Xie| AFY 755,958,000& 755,958
= 377,979
Al 188,990
- 188,989
ool Xtel X2 (Al EAIL XHel) 170,723 114,822 55,901
= 85,361
Al 42,681
5 42,681
101 e1214| 170,723 114,822 55,901
= 85,361
Al 42,681
5 42,681
04 JIZtHI22NEES 170,723 114,822 55,901
QXN Xtel K& (A ZFR L XH2l)
170,723,000 170,723
= 85,361
Al 42,681
- 42,681
oA el XN (ESHM 25 Ltal) 25,551 0 25,551
Al 12,775
5 12,776
307 QI2t0| & 25,551 0 25,551
Al 12,775
5 12,776
05 QIZtREZ 25,551 0 25,551
OXMHIL eI XN (ZSSZHe s dXtel)
25,551,000 25,551
Al 12,775
- 12,776
ool E =S KR AlZ=I 715,176 747,172 A 31,996
Al 357,588
5 357,588
308 ANXISHHMSOIA 715,176 747,172 A 31,996
Al 357,588
- 357,588
11 B 2SHUSEANE AIS Y 715,176 747,172 A 31,996
OZZZHMQ SSEBXZAIL(AMXMHMIZ)
715,176,000 715,176
Al 357,588
5 357,588
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
U ESKA 13,314,676 12,099, 158 1,215,518
= 9,317,922
Al 1,996,697
- 2,000,057
201 £B-2dH| 3,360 3,360 0
01 At 22l 3,360 3,360 0
OBNUBSAY 23NAYAAVE A82Y
70,0003 *4H » 123 3,360
308 A EHHSOIA 13,311,316 12,095,798 1,215,518
= 9,317,922
Al 1,996,697
- 1,996,697
1132 SoHUHSBHEAEALS I 13,311,316 12,095,798 1,215,518
OFelasE2XR& A 13,311,316,000& 13,311,316
= 9,317,922
Al 1,996,697
T 1,996,697
ZOHUESKE I 2A 30,068 16,961 13,107
= 21,048
Al 4,510
T 4,510
308 XXM SOl A 30,068 16,961 13,107
= 21,048
Al 4,510
T 4,510
113/ 2S00HetE & X 2 E A I 30,068 16,961 13,107
OFerasEx Jhat2no 30,068,000 30,068
= 21,048
Al 4,510
T 4,510
STSEML SSAdLEMHA 2ERE 84,360 59,920 24,440
= 42,180
Al 21,090
T 21,090
307 glz2+ol & 84,360 59,920 24,440
= 42,180
Al 21,090
T 21,090
11T MISRASEX 84,360 59,920 24,440
O&e S=LeeMtlA 2 X
84,360,000& 84,360
= 42,180
Al 21,090
T 21,090
Zoiolg el NE(Sstgdxrel) 66,549 49,176 17,373
= 33,275
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Mo mojol =X =
S HoHel fXtel X (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 16,637
T 16,637
101 @144 dl 66,549 49,176 17,373
= 33,275
Al 16,637
T 16,637
04 JIZHHZ22XEE S 66,549 49,176 17,373
OLETMHARAEBS A B Rtel
66,549,000 66,549
= 33,275
Al 16,637
T 16,637
O EsSX2A SEHZHEH XA 57,200 47,400 9,800
Al 57,200
307 glz2tol & 57,200 47,400 9,800
Al 57,200
11T M Z2XASEEX 57,200 47,400 9,800
O esSNIAN SeAZHAH X
57,200,000& 57,200
Al 57,200
STSHMHL SSAHILEMEIA SAA SXNE== X 300 0 300
%
Al 300
307 21201 A 300 0 300
Al 300
11T MISRASEX 300 0 300
O=SZM SSHHLHANEIA SAR =X
g N& 300,000& 300
Al 300
STSHMHL SSAd L MHA 200 0 200
SMLG Sed238dl XA
Al 200
307 gl2tol & 200 0 200
Al 200
11 ALS S XALEE = 200 0 200
OSSO0 SSTAHLYMHIA BAK B8
A2 A &H XI& 200,000 200
Al 200
ST SSetEtA NHHIA SAA 2#s+Y X 2,400 0 2,400
9\5]
Al 1,200
T 1,200
307 glz2+ol & 2,400 0 2,400
Al 1,200
T 1,200
11T MISRASER 2,400 0 2,400
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Zopel =2X s
BOHQ SXAE £X FF (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZMAMSEHE T S RANES
200, 000& *74 2 *23] 2,800
Zojel HoEX J=kIAMH 2Y 57,200 0 57,200
Al 28,700
- 28,500
307 gl2tol & 57,200 0 57,200
Al 28,700
- 28,500
11T AS S XAEE = 57,200 0 57,200
OO HoZsH™ J=XAdH 29
57,000,000& 57,000
Al 28,500
- 28,500
OFHe HOAZSA J=XJAHEH SAXL =2XE
= 200,000& 200
Al 200
FHA=STAIE Seg2el & X&E 8,536,689 7,885,798 650,891
= 2,591,091
Al 4,938,172
- 1,007,426
O =XAIE XA 7,254 7,694 A 440
ZOA=ERNAIERE & LEXR 7,254 7,694 2440
202 4l 648 1,200 A 552
01 S LHOIYI 648 1,200 A 552
OEXAE SEEZANH
10,000& x1H 6L *x12& 0.9 648
301 LerEBAF 3,750 3,750 0
01 AR 2& A5l 3 3,750 3,750 0
OMEISXIAE A2 30,0003 125 13| 3,750
307 gl2tol & 2,856 2,744 112
10 AL SXAIEEE2EHEX 2,856 2,744 112
OMII=XA EwSsH XI& 28,0008 *102H 2,856
FHA=EXAE 2 8,529,435 7,878,104 651,331
= 2,591,091
Al 4,938,172
T 1,000,172
ZOHAANFAIE 28 K& 3,458,243 3,430,000 28,243
= 2,420,770
Al 1,037,473
307 glz2tol & 3,458,243 3,430,000 28,243
= 2,420,770
Al 1,037,473
10 AL SXAIEEE2EHEX 3,458,243 3,430,000 28,243
OFMAAN=AIE 28 NF  3,458,243,000& 3,458,243
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 2,420,770
Al 1,037,473
HOAHZ=AIE JIsEL 41,874 0 41,874
= 20,937
Al 20,937
402 QI2H X201 M 41,874 0 41,874
= 20,937
Al 20,937
02 CIZEXIE A EX (0| XM THL) 41,874 0 41,874
OHMAUHZ=AYE JNsEL(MHEXH)
41,874,000 41,874
= 20,937
Al 20,937
O HFAIE SAMAE SANES & SEFHLH X 18,900 17,950 950
A&
Al 18,900
307 ciztol A 18,900 17,950 950
Al 18,900
11T A EXAIEEX 18,900 17,950 950
OBOUNEAIL EAL SNES L E8AY
284 K& 18,900,000 18,900
Al 18,900
ZOHQ MEBASL UHSHMBT2I2AY X 20,000 20,000 0
Al 10,000
- 10,000
307 2I2+0 & 20,000 20,000 0
Al 10,000
- 10,000
11T AISIEXAIEEX 20,000 20,000 0
OFMAUMEALE JNJHANEZZ JHAIS XA
20,000,000 20,000
Al 10,000
- 10,000
A QiAQl gl Xt 2t 30,000 25,800 4,200
Al 15,000
- 15,000
307 2iz2to| A 30,000 25,800 4,200
Al 15,000
- 15,000
11T AISIEXAIEEX 30,000 25,800 4,200
OA&d A A~ 2A2 X 2tH | 30,000,000 30,000
Al 15,000
- 15,000
TOje HIEEAL 2Y 438,876 314, 160 124,716
Al 219,438
3 219,438
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M HOL=EXNALE Sl & N
S HHA=SIAE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 438,876 314,160 124,716
Al 219,438
- 219,438
10 ALl SXAIEEE 2 H EX 438,876 314,160 124,716
OFoel HIESAE 23 438,876,000& 438,876
Al 219,438
- 219,438
ZOHQ SHIIAHAFAIE SAL EXNE = 1,475 1,100 375
Al 1,475
307 21201 A 1,475 1,100 375
Al 1,475
11T MISRASEX 1,475 1,100 375
OB SIHFAL AT SXFH4
1,475,000& 1,475
Al 1,475
ZOHCl SO HFAIE SAX SE§HLZEH X 1,600 800 800
Al 1,600
307 i+l & 1,600 800 800
Al 1,600
11T MISXASEX 1,600 800 800
OZOQ SIHFAIE SALR S22 A&
PNE-:! 1,600, 000& 1,600
Al 1,600
ZOHel JHelADAIE 2 73,610 72,632 978
Al 36,805
T 36,805
307 glz2tol & 73,610 72,632 978
Al 36,805
- 36,805
10 ALl SXAIEEE 2 H EX 73,610 72,632 978
OZOHEl JHelMDAIE 29 73,610,000& 73,610
Al 36,805
T 36,805
Zoje SsHEIE 24 300,928 264,340 36,588
Al 150,464
T 150,464
307 21201 A 300,928 264,340 36,588
Al 150,464
T 150,464
10 ALSISXAIEEE2GHEX 300,928 264,340 36,588
O =sHEIE 2 300,928,000 300,928
Al 150,464
- 150,464
HOHQ SSHEINE SMA SXNE= 850 800 50
Al 850




2N
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L= B

el

ZOHASXNAIE Setael € X
FoA=ETAE 24

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 850 800 50
Al 850
11 B = XIAN 2 T 850 800 50
OFNATSHEINE SAX SXE4
850,000& 850
Al 850
ZOUA=XAE JIMNAHAEBS XA 43,362 44,676 A1,314
307 21201 A 43,362 44,676 A1,314
11T AS S XAEE = 43,362 44,676 A1,314
OJIMHES XN& 43,362,000 43,362
Fope=X2 24 1,818,566 1,559,400 259, 166
Al 1,818,566
307 glz2tol & 1,618,566 1,559,400 59, 166
Al 1,618,566
10 ALl SXAIEEE 2 H EX 1,561,013 1,559,400 1,613
OFe=Na 29 1,561,013,000& 1,561,013
Al 1,561,013
11T M3 SRASEEX 57,553 0 57,553
OZMWASXT SSZ04 NUSSHE
47,853,000 47,853
Al 47,853
OFMA=Z SALR 2X&E= 5,700,000& 5,700
Al 5,700
OZMWAST T SAX SHALATY X
4,000,000& 4,000
Al 4,000
402 RI2FX=01 M 200,000 0 200,000
Al 200,000
02 QI EALEZ (01X THE) 200,000 0 200,000
OZMA=EX 2 ek + 200,000, 000& 200,000
Al 200,000
Zoiel MATHEALE 2 379,517 403,281 N23,764
Al 379,517
307 21201 A 379,517 403,281 N 23,764
Al 379,517
10 ALSISEXAIEEE2GHEX 377,517 403,281 A 25,764
OHMe HNATHEANE 2 N&
377,517,000& 377,517
Al 377,517
11T MISRASEX 2,000 0 2,000
OHOHe HNATHEALE SAXL 2XNE ==
1,200,000& 1,200
Al 1,200
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M HOWAU=SIAE Se&2e & XN
Sl FHSTAL 2 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SHUEEEYELNE IS EEEET]
X & 800,000& 800
Al 800
ZOHC MNATMEAILE JsEBH 78,000 0 78,000
2 39,000
Al 39,000
402 BI2H X 20| M 78,000 0 78,000
= 39,000
Al 39,000
02 QIZEXIEANIS EX (0| XM THL) 78,000 0 78,000
OXFHQ ZATHEAILE JIsEZY (EHE)
78,000,000 78,000
= 39,000
Al 39,000
O F2AESAIE 229 627,748 578,999 48,749
Al 428,983
- 198,765
307 212t0| & 627,748 578,999 48,749
Al 428,983
- 198,765
10 M SXAANEEHESIGHEX 622,898 574,099 48,799
OZH F=2AESAIE 29 622,898,000 622,898
Al 424 133
5 198,765
11T A EXAIEEX 4,850 4,900 AB0
QX F2AESAIE SAAN EXNE S
2,850,000& 2,850
Al 2,850
OFOQC F2AHESAIE SALL SEAHLZ X
X & 2,000,000& 2,000
Al 2,000
T BHAFALSAL 2Y 291,990 299, 107 AT 117
Al 119,837
- 172,153
201 LBt | 38,916 36,300 2,616
01 AP 22| d| 38,916 36,300 2,616
OFE HHAF=2ESHE E2dUE
38,916,000 38,916
307 2iz2to| A 253,074 262,807 N9,733
Al 119,837
- 133,237
10 MM SAANEEHESIGHEX 253,074 262,807 N9,733
OFE HMAUFAESAIE SAHH|
253,074,000 253,074
Al 119,837
- 133,237
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Ha: ZU=TAL Sezel L N
S HHA=SIAE 2 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OO ASTHEAE JIsESL 150,420 167,950 A 17,530
= 45,126
Al 105,294
402 2I2H X201 M 150,420 167,950 A 17,530
= 45,126
Al 105,294
02 2IZE 2 A EZ(OI XM TH ) 150,420 167,950 A 17,530
OFMelg =z A4 JDIsEZ 150,420, 000& 150,420
= 45,126
Al 105,294
ZOHQ MMIOt=EXEEH 249 165,895 149,150 16,745
Al 165,895
307 glz2tol & 165,895 149,150 16,745
Al 165,895
10 AL SXAIEEE2EHEX 164,745 148,000 16,745
OHM MIt=XNdEH =294 164,745,000& 164,745
Al 164,745
AR S XA E X 1,150 1,150 0
OZOH MMIAI=XEEH SAX 2XNE ==
550,000& 550
Al 550
OZOHQ MIMH=SXHEH SAR S22 H 8|
A& 600,000& 600
Al 600
SESZY MM (IL)MH X 156,666 155,489 1,177
= 62,666
Al 47,000
- 47,000
307 21201 A 156,666 155,489 1,177
= 62,666
Al 47,000
T 47,000
10 M2 SXNANEHES2IHEX 156,666 155,489 1,177
ESTOHQ NSME(IL) M X2
156,666, 000& 156,666
2 62,666
Al 47,000
- 47,000
Zoe SEREAY =8 170,370 169,050 1,320
Al 85,710
- 84,660
307 21201 A 170,370 169,050 1,320
Al 85,710
- 84,660
10 ALSISXAIEEER2IHEX 169,320 169,050 270
OFHe EE2EAY 29 169,320, 000& 169,320
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M HOL=EXNALE Sl & N
SRl FHQASXAIL 29 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 84,660
T 84,660
11T M 2XAIS EX 1,050 0 1,050
OZOMQ SE2EAE SAX SXE=
650,000& 650
Al 650
OZOMQ SE2EAY SALR S22 A
400,000& 400
Al 400
SSEMY NEgd2E HEges 29 N 94,025 41,000 53,025
Al 71,500
- 22,525
201 ¢er24l 1,025 0 1,025
01 At 22l 1,025 0 1,025
OZZZHe XNgde M s dM S HE
H S 1,025,000 1,025
307 gl2tol & 43,000 41,000 2,000
Al 21,500
- 21,500
11T M SRALSE EX 43,000 41,000 2,000
OSsZM NEde HEs 29 N
43,000,000& 43,000
Al 21,500
- 21,500
406 JIEtX =01 & 50,000 0 50,000
Al 50,000
01 JIEtA =20l A 50,000 0 50,000
OZZZMe XNgde MEs dMESZ =t
&2 50,000,000& 50,000
Al 50,000
FOHAAF=AIE SIEEI eE X 4,320 4,320 0
= 2,592
Al 1,728
307 gl2tol & 4,320 4,320 0
= 2,592
Al 1,728
11 AL S XAEE = 4,320 4,320 0
OZOMANFAIE BINFEEI &g X
4,320,000 4,320
= 2,592
Al 1,728
ZOHOZSSHMEIE SAX SE§A2HXH X 600 600 0
Al 600
307 21201 A 600 600 0
Al 600
11T AL SXAIEE = 600 600 0




2N

M HOWAU=SIAE Se&2e & XN
SRl FHQASXAIL 29 CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZNWOZSHEINE BN 22300l
X & 600,000& 600
Al 600
EAlE SHIINHEs 29 A& 159,000 154,600 4,400
Al 159,000
307 2Iz2t0| & 159,000 154,600 4,400
Al 159,000
11T A EXAIEEX 159,000 154,600 4,400
OEANA HIIHEE 29 159,000,000 159,000
Al 159,000
EERHANYMSNAME - HPE BAL SN 1,400 1,500 A 100
Al 1,400
307 212t0| & 1,400 1,500 A 100
Al 1,400
11 A EXAIEEX 1,400 1,500 A 100
OZSHHUXHEMEHE - ME8E SAL 2X
PSS 1,400,000 1,400
Al 1,400
EETONUNSMSAAME  HEE AL ZS2 1,200 1,400 A200
2HEH K&
Al 1,200
307 2iz2to| A 1,200 1,400 A 200
Al 1,200
11T AISIEXAIEEX 1,200 1,400 A 200
OZSS XX HMEHME - MEE SAA =&
A2HEH XK 1,200,000 1,200
Al 1,200
Co=x I 84,149,045 75,820,414 8,328,631
= 54,340,762
Al 16,785,790
- 13,022,493
CESME OFDIE Xy 74,456,560 66,049,050 8,407,510
2 51,435,322
Al 13,692,395
- 9,328,843
=2 X2 73,479,032 65,401,790 8,077,242
= 51,435,322
Al 13,226,226
- 8,817,484
301 et A= 73,479,032 65,401,790 8,077,242
= 51,435,322
Al 13,226,226
- 8,817,484
01 Al E & A 462 73,479,032 65,401,790 8,077,242
OPIESSF=aNE=, 73,479,032,000& 73,479,032
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 51,435,322
Al 13,226,226
T 8,817,484
Jl=d3ad At XN & 1,560 2,560 A 1,000
201 £B-2dH| 1,560 2,560 A 1,000
01 At 22l 1,560 2,560 A1,000
OJZQ3 84 U 222 HE
1,000,000& 1,000
OJZHB 01N BT A+
70,0003 x4H «23| 560
Z22Ad 234 A 725,870 495,320 230,550
Al 341,120
- 384,750
307 21201 A 725,870 495,320 230,550
Al 341,120
- 384,750
11T ALS S XA E X 725,870 495,320 230,550
OZZ2AE R4 AHY 725,870,000 725,870
Al 341,120
T 384,750
Hs2H MAS MOt AAHE 199,680 133,380 66,300
Al 99,840
T 99,840
307 glz2tol & 199,680 133,380 66,300
Al 99,840
T 99,840
11T M SXAIS EX 199,680 133,380 66,300
ONHSEH MAS MOt Ql AABE
199,680, 000& 199,680
Al 99,840
T 99,840
Lofasa AII2 ZHEZ MY 14,000 16,000 A2,000
Al 7,000
- 7,000
402 RI2HX=01 M 14,000 16,000 A 2,000
Al 7,000
- 7,000
02 QI EAIL EZ (01X S) 14,000 16,000 A 2,000
OS2 SA AMI2 ZHIEZ ALY
14,000, 000& 14,000
Al 7,000
T 7,000
SEIA $#IT 0 X 36,418 0 36,418
Al 18,209
- 18,209
307 glz2tol & 36,418 0 36,418




A el Zoel
M o=y MM
ool CSME OHEDIE X4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 18,209
T 18,209
11T M SXASEX 36,418 0 36,418
OR=zA )& XA 36,418,000 36,418
Al 18,209
- 18,209
HEFE Lo=X MUlA X 2,033,085 1,825,582 207,503
= 1,051,910
Al 492,785
- 488,390
Lo EXNMEIA LB XA 1,870 2,000 A 130
201 et 970 1,000 A 30
01 At 22l 970 1,000 A30
ooy R2A EEE M 18,0003 15 270
ORge & 70,0003 x5H »23| 700
203 YR =&l 900 1,000 A 100
03 A Z=XH S =AY 900 1,000 A 100
OkLe=sk g8 =& 23 1,000,000& *0.9 900
SHLQ eHEXIZO0l At XI& 3,000 3,000 0
307 21201 A 3,000 3,000 0
11T M3 SXAISEEX 3,000 3,000 0
O24 A& dstg XI& | 750,000 *43] 3,000
Agol ot E TIE ALY 129,000 63,294 65,706
Al 64,500
- 64,500
301 EEMZ 38,400 5,100 33,300
Al 19,200
- 19,200
01 MI2EZE 06z 38,400 5,100 33,300
Ot E DI WA 38,400,000& 38,400
Al 19,200
- 19,200
307 21201 A 90,600 58,194 32,406
Al 45,300
T 45,300
11T MISAASEX 90,600 58,194 32,406
oot E S4HlE 82,500,000 82,500
Al 41,250
- 41,250
OotME JIDl=2l & 2eldl& 8,100,000& 8,100
Al 4,050
T 4,050
Mg =8 Lol L Zojel X 2,765 2,528 237
Al 2,765
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 2,765 2,528 237
Al 2,765
01 MI2EZE 06z 2,765 2,528 237
OMEEE 47 Lo 2 Zojel X
2,765,000 2,765
Al 2,765
HAAS o 0tA3 KE L EMI HEI(WED] 5,000 0 5,000
PR
Al 5,000
301 LEtEBA S 5,000 0 5,000
Al 5,000
01 MEIBEE 2053 5,000 0 5,000
OFAANS Lo 0tAIXNF L SAHI| HEYD|
A& 5,000,000& 5,000
Al 5,000
COYESEAHUA N 1,502,750 1,453,410 49,340
2 1,051,910
Al 225,420
T 225,420
307 glz2+ol & 1,502,750 1,453,410 49,340
= 1,051,910
Al 225,420
T 225,420
11T MISRASEX 1,502,750 1,453,410 49,340
OLQE=SMHMEIAXEA 1,502,750,000& 1,502,750
= 1,051,910
Al 225,420
- 225,420
LolgtEEEAMEIA BAX HRMA 1,500 1,350 150
Al 1,500
307 21201 A 1,500 1,350 150
Al 1,500
11T M3 SXAISEEX 1,500 1,350 150
OLoStESSMEIA BAR 2XE ==
150,000& 6 900
Al 900
OLQStESESMEIA SALA SEA2 A &I
A& 200,000& »3H 600
Al 600
LoEE ¥ SSA SAR 250 XN 98,400 0 98,400
Al 49,200
- 49,200
307 21201 A 98,400 0 98,400
Al 49,200
- 49,200
11T MISXASEEX 98,400 0 98,400




SA: ol F QI
Ha: Lo=x MM
Sl ¥EE =X AHIA X CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OCONEESHUL SAN Be48
100,000& »82H » 12& 98,400
Al 49,200
T 49,200
SEdg =SXHE K= 288,800 300,000 A 11,200
Al 144,400
- 144,400
307 gl2tol & 288,800 300,000 A 11,200
Al 144,400
- 144,400
11T ASI S RAEE = 288,800 300,000 A 11,200
OsE&Ed =X3tE XA 288,800,000 288,800
Al 144,400
- 144,400
IZXIANE 2Z 2,671,662 2,828,454 AN 156,792
= 1,765,603
Al 834,568
T 71,491
LZAE 29H X 449,335 571,656 A 122,321
= 314,533
Al 134,802
307 glz2+ol & 449,335 571,656 A 122,321
= 314,533
Al 134,802
10 ALSISXAIEEE2EH EX 449,335 571,656 N 122,321
ORI AZAIE K& 449,335,000 449,335
= 314,533
Al 134,802
SIYZAE AR SNEL 1,900 1,900 0
Al 1,900
307 21201 A 1,900 1,900 0
Al 1,900
11T M3 SXAISEEX 1,900 1,900 0
OR=LZAN4E SXNE= 1,900,000 1,900
Al 1,900
LZAIE SAL SEFHZAXH X (HRMA) 1,400 400 1,000
Al 1,400
307 gl2tol & 1,400 400 1,000
Al 1,400
11 ALS S RAEE = 1,400 400 1,000
OLQ=XAE SAR SA2HAH X
1,400,000 1,400
Al 1,400
A=A Aol AAIE 23 X&E 1,451,070 1,451,070 0
= 1,451,070
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 1,451,070 1,451,070 0
= 1,451,070
10 AL SXAIEEE2EHEX 1,451,070 1,451,070 0
OMEESEZANLE 2 1,451,070,000& 1,451,070
= 1,451,070
AMEESESRS 2 SAXL 2XNE = 4,850 4,700 150
Al 4,850
307 glz2+ol & 4,850 4,700 150
Al 4,850
11T MISRASER 4,850 4,700 150
OAMgesESIE2 SAL S8
4,850,000& 4,850
Al 4,850
MEEISZS 2 SALAL SEA1Z2Z 88 X2 2,600 2,600 0
Al 2,600
307 212+0] & 2,600 2,600 0
Al 2,600
11T M SXAISE EX 2,600 2,600 0
OMEESES 2 SAX SEA2ZEH XA
2,600,000 2,600
Al 2,600
LOQAANE 2H(SAXN) 623,193 639,036 A 15,843
Al 623,193
307 glz2tol & 623,193 639,036 A 15,843
Al 623,193
10 AL SXNAIEEE2EH EX 623,193 639,036 A 15,843
OLQAAE 2H(SAA) 623, 193,000& 623,193
Al 623,193
Moteol SXAIE XNA(S2AX) 130,046 153,000 N 22,954
Al 65,023
T 65,023
307 21201 A 130,046 153,000 N 22,954
Al 65,023
T 65,023
10 ALSISEXAIEEE2EHEX 130,046 153,000 A 22,954
OMIt=el SXAIE XA (S2AXH)
130,046, 000& 130,046
Al 65,023
- 65,023
ML OIS XAIE(SAX) SAN sXE % 600 400 200
Al 600
307 glz2+ol & 600 400 200
Al 600
11T MISXASEX 600 400 200
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= _ — d =
SA - BB B (BA) - MM - BHES e
StREEIIE = s N2 1,731,131
= 384,905
Al 346,226
301 LEd = , 731,131
= ,384,905
Al 346,226
01 Ml2ZHE 6= , 731,131
OOIS S XN (BRDIHE)
1,704,000, 000& ,704,000
= 1,363,200
Al 340,800
O OIS N (HLRIIE)
14,400,000& 14,400
= 11,520
Al 2,880
Oo0tsu=H (504 st&FHl) XN (20t
=) 4,931,0002 4,931
= 3,945
Al 986
QUEEXS NI (BR2IHE) 7,800,000& 7,800
= 6,240
Al 1,560
BIEOIE NDMYUST U 22 X 892
Al 892
301 UBHEH S 892
Al 892
01 MEIBEE 2053 892
Oxgs & gst=s 892,000& 892
Al 892
BEOIIE XZ DM StaH S X 81,842
Al 40,921
- 40,921
301 LBHE A 81,842
Al 40,921
- 40,921
01 AR 2Z A5 3 81,842
OtR2IIE ==0M gsd 8 XA
81,842,000 81,842
Al 40,921
- 40,921
HEEIE SEI| MEBOHINL 60,000
Al 30,000
- 30,000
301 LBHE A 60,000
Al 30,000
- 30,000
01 AR 2Z A 53 60,000




A Hd0ts
I od8N S
CHel: MAES 5120 J1A ME O X

SN EB S (3H) - NBAY - B2 il 2
OIS0 II= =2 AEQE A&
60,000, 000& 60,000
Al 30,000
- 30,000
Hadst23d e X3 39,415 39,415 0
= 31,532
Al 7,883
301 et M= 39,415 39,415 0
= 31,532
Al 7,883
01 MIIBEEE2G2 39,415 39,415 0
OOELSH N (HLE822)
34,275,000& 34,275
= 27,420
Al 6,855
OHPAEDA stsH X (HAHSER)
1,540,000& 1,540
= 1,232
Al 308
OSSN+ (HAEHSER) 3,600,000 3,600
= 2,880
Al 720
SRR JIE EXAME 29 764,009 691,051 72,958
= 29,401
Al 734,412
- 196
DRIIEEXNAE XS 375,207 329,964 45,243
Al 375,095
- 112
307 QI2t01 ™ 375,207 329,964 45,243
Al 375,095
- 112
10 Al SXAIEEE2IHIEX 375,207 329,964 45,243
Z =22 MomgKids =& 375,095, 000& 375,095
Al 375,095
OMEE2EXA EL1=H X& 28,000& *4H 112
OE22XE SXAE XA 330,739 297,721 33,018
Al 330,655
- 84
307 QI2t0| & 330,739 297,721 33,018
Al 330,655
- 84
10 Al SXAIEEE2IHIEX 330,739 297,721 33,018
OZL3te & 29 330,655, 000& 330,655
Al 330,655
OMIZ2XA EL1=H X& 28,000& *3H 84




AN 6dotsn
HE: GH=X 55X L AEHY L
ool BT JIE XA 29 CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ANEULTALGINZRNR (BRR2INESIIAIL) 16,000 22,278 A6,278
2 8,000
Al 8,000
307 gl2tol & 16,000 22,278 A6,278
= 8,000
Al 8,000
11T AIS S RAEE = 16,000 22,278 A6,278
OANELATNAEXNEXNA(SHR2INEEXNAL)
16,000, 000& 16,000
= 8,000
Al 8,000
NEIIS2LRNE (BL2NESAL) 9,500 3,900 5,600
2 4,750
Al 4,750
307 21240 9,500 3,900 5,600
= 4,750
Al 4,750
T M XA E X 9,500 3,900 5,600
OAN&IIsEZ XN (HRIINESXAE)
9,500,000 9,500
= 4,750
Al 4,750
ANEO0ISSMEI AR (BHR2IE=SXAIL) 23,788 23,788 0
= 16,651
Al 7,137
307 21201 A 23,788 23,788 0
= 16,651
Al 7,137
11T ALSI S XAIEE = 23,788 23,788 0
OtRZ2IIE=EXNAE Ot0I&=S MHIA R
23,788,000 23,788
= 16,651
Al 7,137
BR2ItE SIAMNE(HEL2Y E XRF) 6,000 10,000 A 4,000
Al 6,000
307 21201 A 6,000 10,000 A 4,000
Al 6,000
11T M3 SRASEEX 6,000 10,000 A4,000
Ost2IEXNANEXNA(NHEL2Y S NA)
6,000,000 6,000
Al 6,000
BEOIIE SXAL AN XN (HRMWA) 1,775 1,400 375
Al 1,775
307 21201 A 1,775 1,400 375
Al 1,775
11T MISAASEX 1,775 1,400 375




2A: d40ts
Bu: ol4=N 57 U IR L
SRR JE =2XAL 2Y CERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OstE2IIE EXNAE SAMLN X XS
1,775,000 1,775
Al 1,775
SHERIIE EXAIE SAN SEHEH XN (HS2M 1,000 1,000 0
)
Al 1,000
307 QI2t0| ™ 1,000 1,000 0
Al 1,000
11T A EXAIEEX 1,000 1,000 0
OStRER2IIE SAAE SAIAN S28d XA
1,000,000 1,000
Al 1,000
ALINEEXNN A 3,349,285 1,879,816 1,469,469
= 2,095,152
Al 630,301
- 623,832
A2LIE - 23X HdE A& 76,416 55,176 21,240
201 LBt 63,000 30,360 32,640
01 AP 22| d| 19,800 19,800 0
OALUINAEURINEXNKAMLME AdH2(6E)
1,650,000 x12& 19,800
02 Z2=2=29%4| 43,200 10,560 32,640
Ostets=2LIsH 22l 1,100,000& x12& 13,200
OEI 4= 22ldl 2,500,000 ~12& 30,000
307 2iz2to| & 13,416 24,816 A 11,400
10 MM SAANEEHESIGHEX 616 816 A 200
OHUINEURSANEHLHEH ASIEXNA BELWS
H K& 28,000 22X 616
11T AISIEXAIEEX 12,800 24,000 A 11,200
ORIIJts ag 2 29 12,800,000& 12,800
AAIE 2 ORI XNHEH 29 490,380 400,300 90,080
= 245,190
Al 122,595
5 122,595
307 QI2t0| & 490,380 400,300 90,080
= 245,190
Al 122,595
- 122,595
11T A EXAIEEX 490,380 400,300 90,080
OAHLUINEURSIIEXNSEH 24
490,380,000 490,380
= 245,190
Al 122,595
- 122,595
ololsE X& 2,453,000 1,200,000 1,253,000




AR GRS N S

Bu: ol4=N 57 U IR L
&S ALINE=SXNE (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 1,717,100
Al 367,950
T 367,950
307 i+l & 2,453,000 1,200,000 1,253,000
= 1,717,100
Al 367,950
T 367,950
11T MISXASEX 2,453,000 1,200,000 1,253,000
OO0t0IEE KA 2,453,000, 000& 2,453,000
= 1,717,100
Al 367,950
- 367,950
SSS0tUsH & IIEES0 22 XA 161,484 86,840 74,644
= 80,742
Al 40,371
- 40,371
307 21201 A 161,484 86,840 74,644
= 80,742
Al 40,371
- 40,371
11T AR S XA E = 161,484 86,840 74,644
Ozss0tUsH & HESS0 2EXA
161,484,000& 161,484
= 80,742
Al 40,371
- 40,371
SSS0tUsH I 2 20,000 0 20,000
Al 10,000
- 10,000
307 21201 A 20,000 0 20,000
Al 10,000
- 10,000
11T M3 SRAISEX 20,000 0 20,000
OZ2s=s0tUsH I 2 20,000,000& 20,000
Al 10,000
T 10,000
SIRRItE XA (882 ASLsXH) 13,000 13,000 0
Al 6,500
- 6,500
307 gl2tol & 13,000 13,000 0
Al 6,500
- 6,500
11 ALS S XAEE = 13,000 13,000 0
OS=R2IE N (822 225 NH)
13,000, 000& 13,000
Al 6,500
- 6,500




Bu: ol4=N 57 U IR L
el ARINH =N CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
ALINEXNJHEH 2 E2&H XA 26,415 21,600 4,815
Al 26,415
307 QI2t0| & 26,415 21,600 4,815
Al 26,415
11T A EXAIEE X 26,415 21,600 4,815
OALUINAEXNKME A2 EHH K&
26,415,000& 26,415
Al 26,415
ALINNEXNJAHEH SALA =X X & 2,350 1,900 450
Al 2,350
307 212t0| & 2,350 1,900 450
Al 2,350
11T A SXAIE EX 2,350 1,900 450
OHLNEXNKME SAK XX (HRMA)
2,350,000& 2,350
Al 2,350
ALINBRNRHE SAFA A2H&H XS 2,000 800 1,200
Al 2,000
307 212t0| & 2,000 800 1,200
Al 2,000
11T A SXAIE E X 2,000 800 1,200
OALUINAEXNKAME SALX HZ2XRH KR (H
LI 2,000,000& 2,000
Al 2,000
F ot . I ISR ALY 104,240 100,200 4,040
= 52,120
Al 52,120
307 212t0| & 104,240 100,200 4,040
= 52,120
Al 52,120
11 A SEXNAEE X 104,240 100,200 4,040
OF - AINIE ANSAY 104,240,000& 104,240
= 52,120
Al 52,120
Ch23its X& 528,379 378,122 150,257
= 147,261
Al 154,820
- 226,298
CEsIsXNaEos 89 1,680 1,820 A 140
201 Bt A H| 1,680 1,820 A 140
01 At 22l bl 1,680 1,820 A 140
OUSIINEXNAE S 32 &8 =g
70,000& *12Z 23| 1,680
CI2SIIIEXNJHE SAA 22 288 XS 20,550 14,500 6,050




o
CEE B (BH) - HBRAY - BAS %Ei HR=2
Al 20,550
307 2iz2to| A 20,550 14,500 6,050
Al 20,550
11T AISIEXAIEEX 20,550 14,500 6,050
OURSNENAME SAK U2 2/ N
18,000,000 18,000
Al 18,000
OUSSIIENRAME SAK SN+ N
1,550,000& 1,550
Al 1,550
OUSSHNSNRME SAR SSALH T
X & 1,000,000 1,000
Al 1,000
NEESE URSIIIE NEAY 18,000 12,000 6,000
Al 9,000
- 9,000
307 2iz2to| & 18,000 12,000 6,000
Al 9,000
- 9,000
11 Al EXAIE B 18,000 12,000 6,000
OXNEESTE UR3IIE KNS ALY
18,000,000& 18,000
Al 9,000
- 9,000
ZoIE SSAY 266,521 201,173 65,348
= 133,261
Al 66,630
- 66,630
307 2Iz2t0| & 266,521 201,173 65,348
= 133,261
Al 66,630
- 66,630
11 Al EXAIE B 266,521 201,173 65,348
OUERSIE $2u= 105,216,000 105,216
2 52,608
Al 26,304
3 26,304
OZE0|2 X EHAANHI A K& 30,050,000 30,050
= 15,025
Al 7,513
- 7,512
OUERIHE AH AHEE X 69,360,000 69,360
2 34,680
Al 17,340
5 17,340
OO0l Jt=EEE =4 30,070,000 30,070
= 15,035
Al 7,517




AR GRS N S

Ha: 042X
J

teer )
= - - SHE|
SA B SR(SH) - HRAY - BES e &l
- 7,518
OUEstItE Arddl2tel 31,825,000& 31,825
2 15,913
Al 7,956
- 7,956
ZE0I0X AR (P S20Hwa) 25,000 20,009 4,991
= 12,500
Al 6,250
- 6,250
307 glz2tol & 25,000 20,009 4,991
= 12,500
Al 6,250
- 6,250
11T AISI S XA E X 25,000 20,009 4,991
OZE0|QUX AS2AFXNA(F S20Ha)
25,000,000& 25,000
= 12,500
Al 6,250
- 6,250
CHESIE Ols 220 FUAA NE 2,000 2,000 0
Al 2,000
307 2I2t0l A 2,000 2,000 0
Al 2,000
11 AISI S XA E X 2,000 2,000 0
OU=23IIE Ot 220 LS AN XA
2,000,000 2,000
Al 2,000
CtE 3t RI210E 4gXizd XA 3,000 0 3,000
Al 1,500
- 1,500
307 2Iz2t0l A 3,000 0 3,000
Al 1,500
- 1,500
11T AISISAAEE X 3,000 0 3,000
OU=23s |J10t8 &gx=Hl XN
3,000,000 3,000
Al 1,500
- 1,500
CGE3otE Atd MES At 10,000 5,440 4,560
Al 10,000
307 2Iztol ™ 10,000 5,440 4,560
Al 10,000
11 AISI S AAISEE = 10,000 5,440 4,560
OUREIE NHH HEZ ALY 10,000,000& 10,000
Al 10,000




=M 80 S Dt
HE: GH=X 55X L AEHY L

& UR3IIEs N (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
CtE2shots a4 12,420 0 12,420
22w ESHE AIY
Al 6,210
5 6,210
307 QI2t0| ™ 12,420 0 12,420
Al 6,210
- 6,210
11T A EXAIEEX 12,420 0 12,420
OUE3IIE NH 2etolns ZEHE ALY
12,420,000 12,420
Al 6,210
5 6,210
ChEshits di2xz )Y 4,000 4,000 0
Al 2,000
- 2,000
307 2izto| A 4,000 4,000 0
Al 2,000
- 2,000
11T A EXAIEEX 4,000 4,000 0
OUSSIIE ="z 4.,000,000& 4,000
Al 2,000
- 2,000
HAE0|20 X LAl XNE AHAS (T2 2 AHIEA) 4,000 4,000 0
Al 2,000
- 2,000
307 212t0| & 4,000 4,000 0]
Al 2,000
- 2,000
11 A EXAIEEX 4,000 4,000 0
OZE0I0X LXK AHAMS(TIH2IHZ A
otA) 4,000,000& 4,000
Al 2,000
- 2,000
202X LAl XS 16,500 30,000 A 13,500
AAHAS (HYAHDESH)
Al 8,250
- 8,250
307 2izto| A 16,500 30,000 A 13,500
Al 8,250
- 8,250
11T AISIEXAIEEX 16,500 30,000 A 13,500
OZE0I12 A LA KNFAAHAMNS (FYEAH D E
s8) 16,500,000 16,500
Al 8,250
- 8,250
0IJl= Z2E0/F=0HA CIOISAHY 3,000 2,990 10




AN 6dotsn
HE: GH=X 55X L AEHY L
Sl CHREItE X9 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,500
Al 750
T 750
307 i+l & 3,000 2,990 10
= 1,500
Al 750
T 750
11T MISXASEX 3,000 2,990 10
OOt ZE20I=0d TOIS At
3,000,000& 3,000
= 1,500
Al 750
T 750
ZE0I2A AR HAAMNG(HEERY) 33,360 0 33,360
Al 16,680
T 16,680
307 glz2+ol & 33,360 0 33,360
Al 16,680
T 16,680
11T M Z2XAIS EX 33,360 0 33,360
ZE0IQUX LXK HA ASXE (M
H2H) 33,360,000& 33,360
Al 16,680
T 16,680
ZE0I2A SHAFH(FEDA) 6,000 0 6,000
Al 3,000
- 3,000
307 glz2tol & 6,000 0 6,000
Al 3,000
- 3,000
11T M Z2XAIS EX 6,000 0 6,000
OZE0I2UX sHAMF(HFEDAl) 6,000,000 6,000
Al 3,000
- 3,000
2NHYUZA 2HEUY 2 (2L AIZF0 7,500 0 7,500
YA AY)
201 £B-2dH| 7,500 0 7,500
03 A2 Z Hl 7,500 0 7,500
OU=23IE & AR F0I0Ha JOZA &
dE 2 7,500,000 7,500
o= dOl S.BHIAM UEE 2 2,000 0 2,000
201 Let24d] 2,000 0 2,000
01 At 22/l 2,000 0 2,000
Ofl4 HUSHAAN SH Ay X2
2,000,000& 2,000




2AM: d-80ts
HE: GH=X 55X L AEHY L
& UR3IIEs N (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
QZ2Z2NMSE AISE XA 62,848 68,080 N5,232
307 2Iz2t0| A 62,848 68,080 N5,232
11 A EXAIEEX 62,848 68,080 N5,232
OJIE - gRot Tx)d 249 6,460,000 6,460
Ost=0na 249 15,400,000& 15,400
OMEotN AenNs 580,000 580
Oatetate| | ol 40,408,000 40,408
2=2QoIzxE=0l 2 23 3t X 30,000 0 30,000
307 QI2t0| ™ 30,000 0 30,000
11T A EXAIEEX 30,000 0 30,000
O ¢z 228 O OS2 HAEIY (200 A
) 30,000,000 30,000
Hiold 24 ¢ I 4,554,336 2,610,922 1,943,414
= 611,255
Al 1,925,478
- 2,017,603
HAYE 23S AF 23,300 64,500 AN41,200
= 5,000
Al 1,250
- 17,050
HAYE S S3HEH A 10,800 12,000 A 1,200
307 2izto| A 10,800 12,000 A 1,200
02 QIZ2IA AAIE E X 10,800 12,000 A 1,200
OFAYHE el 258 Al 10,800,000& 10,800
HAUEES0otel N 12,500 12,500 0
= 5,000
Al 1,250
5 6,250
307 QI2t0| ™ 12,500 12,500 0
= 5,000
Al 1,250
- 6,250
02 QI2tAMAIE E =X 12,500 12,500 0
Oda3a4d sotel XA 12,500,000& 12,500
= 5,000
Al 1,250
- 6,250
HAGAL 2 4,423,211 2,425,960 1,997,251
= 560, 125
Al 1,899,923
- 1,963, 163
Hadsd2 29 615,284 584,564 30,720
307 212t0| & 615,284 584,564 30,720




2N
X ZH -
L= B

el

H4ots
a4 23t

FAUEAE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 23,000 23,000 0
OHEd Tz 29 & 23,000,000& 23,000
05 RIZt2IEt = 592,284 561,564 30,720
OFadsgat 29 592,283,400 592,284
HAEXNEA B XX & 67,364 62,170 5,194
= 23,208
Al 11,604
- 32,552
307 gl2tol & 67,364 62,170 5,194
= 23,208
Al 11,604
- 32,552
02 It M AHE L 67,364 62,170 5,194
OFALEX T A BIXIXI& 67,364,000 67,364
= 23,208
Al 11,604
- 32,552
Faggu=sotatdlol 24 414,137 409, 306 4,831
= 164,042
Al 82,021
T 168,074
307 glz2+ol & 414,137 409, 306 4,831
= 164,042
Al 82,021
T 168,074
02 HAFHAANGFEE 414,137 409,306 4,831
Oogu= ototalal 2¢ 414,137,000 414,137
= 164,042
Al 82,021
- 168,074
S3ELAESEANE 2208 2F N2 20,000 5,000 15,000
Al 20,000
307 21201 A 20,000 5,000 15,000
Al 20,000
02 It HAHEL 20,000 5,000 15,000
OZSEa2dUEALE 22208 29 N&
20,000,000& 20,000
Al 20,000
NAHAESOHI T 2 (a8 AE 2223 4,000 4,000 0
29X )
= 2,000
Al 1,000
T 1,000
307 glz2tol & 4,000 4,000 0
= 2,000
Al 1,000




=M 80 S Dt
ol HAE 235

Helr FAUAME

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 1,000
02 It M AMHEE 4,000 4,000 0
O=dgAle F2E2ZA&335 X
4,000,000& 4,000
= 2,000
Al 1,000
T 1,000
HEAEUMNZXNKEEH 22 411,000 394,000 17,000
Al 70,000
T 341,000
307 glz2+ol & 411,000 394,000 17,000
Al 70,000
- 341,000
05 RIZtE = 411,000 394,000 17,000
OEL2EXN=ZXNJAEH 29 411,000,000 411,000
Al 70,000
- 341,000
Fad 22y 24 425,163 406,493 18,670
307 21201 A 425,163 402,973 22,190
05 RIZt2IE = 425,163 402,973 22,190
O&¥ad =232y 29 425,162,800 425,163
NSAs EAEHMY A5 103,582 102,862 720
= 48,735
Al 24,368
- 30,479
201 Let249] 1,680 1,680 0
01 At 22l 1,680 1,680 0
OBAESHNATN SGA/E BH2Y
70,0003 x12H +23| 1,680
307 21201 A 101,902 101,182 720
= 48,735
Al 24,368
T 28,799
05 BIZERIE 3 101,902 101,182 720
OFagetdadr = X & 101,902, 000& 101,902
= 48,735
Al 24,368
T 28,799
o7 Fagagsildye 29 N 117,028 122,825 N5, 797
Al 53,573
T 63,455
307 glz2tol & 117,028 122,825 NB, 797
Al 53,573
- 63,455
05 RIZIRI & 3 117,028 122,825 N5, 797




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET

OFAGAGENEH 29 117,028,000 117,028
Al 53,573
- 63,455

FA4E e Z20Y 29 88,287 76,367 11,920
= 43,485
Al 21,743
T 23,059

307 21201 A 88,287 76,367 11,920
= 43,485
Al 21,743
T 23,059

05 RIZt2IE = 88,287 76,367 11,920
O&FAYE SEA4 2208 29 88,287,000 88,287
= 43,485
Al 21,743
- 23,059

st & HA4ad X&E 221,430 258,373 A 36,943
= 88,195
Al 18,899
- 114,336

307 gl2tol & 221,430 258,373 A 36,943
= 88,195
Al 18,899
- 114,336

05 BIZHRI & 3 221,430 258,373 A 36,943
Osgtw & HAUXJAMEH 29 221,430,000& 221,430
= 88,195
Al 18,899
T 114,336

stn o8 HAad gaAXA 9,720 0 9,720
= 4,320
Al 2,700
T 2,700

307 glz2+ol & 9,720 0 9,720
= 4,320
Al 2,700
T 2,700

02 QIZtE M AHEE 9,720 0 9,720
Ogtu & F4ad g4X& 9,720,000 9,720
= 4,320
Al 2,700
- 2,700

StUSEAENJMNE SAL MM X 4,540 0 4,540
Al 2,270
T 2,270

307 21201 A 4,540 0 4,540
Al 2,270




=M 80 S Dt
ol HAE 235

Helr FAUAME

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 2,270
02 QIHHAAIA BT 4,540 0 4,540
OSDHFAETAME SAK HRH&H X
2 4,540,000 4,540
Al 2,270
T 2,270
HAeRHAESHZ M7 HE 1,437,791 0 1,437,791
Al 1,294,000
T 143,791
401 Al HIZ 201 Y] 1,437,791 0 1,437,791
Al 1,294,000
- 143,791
01 Al&Hl 1,437,791 0 1,437,791
Ogi+TEsd4apz A &
1,437,791,000& 1,437,791
Al 1,294,000
T 143,791
FAESKAE 22 XA 451,235 0 451,235
= 178,940
Al 272,295
307 glz2+ol & 451,235 0 451,235
= 178,940
Al 272,295
11T M3 SXAISE EX 451,235 0 451,235
OFAESIAE 2E A
451,235,000 451,235
= 178,940
Al 272,295
HAESXNAE SAAL 328 N 23,700 0 23,700
Al 23,700
307 gl2tol & 23,700 0 23,700
Al 23,700
11T M SXAISE EX 23,700 0 23,700
OBAHSIAL EAL ASLHY N
23,700,000 23,700
Al 23,700
EAESANANE SAHL =XNE K& 1,550 0 1,550
Al 1,550
307 21201 A 1,550 0 1,550
Al 1,550
11 ALS S XAEE = 1,550 0 1,550
OFAEEXANE SAX 2XNE= X
1,550,000 1,550
Al 1,550
HAESEXAIE SAX SEALZAH X 200 0 200
Al 200




=M 80 S Dt
ol HAE 235

Helr FAUAME

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 200 0 200
Al 200
11T M SRASE EX 200 0 200
OFAEEXANE BSAR SEA2ZEH XA
200,000& 200
Al 200
HEAESAANE MIIERA 22| 7,200 0 7,200
= 7,200
301 LEd = 7,200 0 7,200
= 7,200
0B A =R RAB A4S 7,200 0 7,200
OBLESEXAE AMIERF 22
7,200,000 7,200
= 7,200
HaE B5 & g4 107,825 120,462 A 12,637
= 46,130
Al 24,305
- 37,390
st = oy 860 860 0
201 Let24d] 860 860 0
01 At 2teltl 860 860 0
OsnEAHAA S s +Y
70,000& x 10 *13] 700
OfIZd & =9 M 160,000& 160
FAaE Kol A& 4,955 5,450 A 495
201 £B-2dH| 1,215 1,350 A135
03 A2 Z Hl 1,215 1,350 A135
O8=2 M= 70,000& 51 %0.9 315
o= HMH 1,000,000& *0.9 900
202 04l 3,240 3,600 A 360
01 = LH 4 HI 3,240 3,600 A 360
OFALHE Kiigda S0
3,600,000& x0.9 3,240
301 LeEAF 500 500 0
12JIE243 500 500 0
O&FAdE Roiad =2 50,000&*10H 500
AMSIHEHZAIR EsHl X 6,400 7,920 A 1,520
Al 3,200
- 3,200
301 LEHZ 6,400 7,920 A 1,520
Al 3,200
- 3,200
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0 & Ot

2N

<

n0

Kio

Hl w

A 1,520

A 990

A 190

A 190

A 130

A 30

A 30

A 100

A 100

A 200

H3r
Wikd
RIS

7,920

6,300

5,500
5,500

10,430

10,430

10,430

2,140

1,140
1,140

1,000
1,000

3,000

2,800

2,800

Off &t 24

6,400
6,400
3,200
3,200
5,310

Al

5,310
5,310
4,500

810

10,430
7,300

i

1,565
1,565
10,430
7,300

Al

i

1,565
1,565
10,430
10,430
7,300

Al

i

1,565
1,565
2,010

Al

,110
,110

1
1

840
270

900
900

900
2,800

fir

700
700

1,400
2,800

Al

fir

1,400
700
700

2,800

2,800

Al

1,400
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AN 6dotsn
M HAd 2384 U A8
el HAW 25 U 84 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| - 700
HAE HAAXNIA(MNAS GHEEAHE AMEE XH) 71,360 73,862 22,502
= 35,680
Al 17,840
- 17,840
301 LEMZ 71,360 73,862 22,502
= 35,680
Al 17,840
- 17,840
01 MI2EZE 06z 71,360 73,862 N2,502
ONAS HdEaY AMES K&
71,360,000 71,360
= 35,680
Al 17,840
T 17,840
FAaERSIZAE X 3,700 6,000 A 2,300
= 1,750
Al 1,000
- 950
307 gl2tol & 3,700 6,000 A 2,300
= 1,750
Al 1,000
- 950
02 PIZHE M AHE L 3,700 6,000 A 2,300
OFAERNSIZAIE K& 3,700,000& 3,700
= 1,750
Al 1,000
- 950
ors=EX 3 s 32,874,312 31,412,968 1,461,344
= 23,507,706
Al 5,637,547
T 3,729,059
ots=% XI& 27,492,350 26,035,300 1,457,050
= 21,993,520
Al 3,848,965
T 1,649,865
(= = DN =) 27,488,750 26,032,800 1,455,950
= 21,991,000
Al 3,848,425
T 1,649,325
301 LBEAZ 27,488,750 26,032,800 1,455,950
= 21,991,000
Al 3,848,425
- 1,649,325
01 MEI2BZE 05z 27,488,750 26,032,800 1,455,950
Otts=¢ 27,488,750,000& 27,488,750
= 21,991,000




& ots
ots=X 22 58

ots=g X&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,848,425
T 1,649,325
XXEH At Hl X (Ots+2 29Hl) 3,600 2,500 1,100
= 2,520
Al 540
- 540
201 £B-2dH| 3,600 2,500 1,100
= 2,520
Al 540
- 540
01 At 22l 2,000 1,000 1,000
O0ts==& ¢d 2232 MA 2,000,000& 2,000
= 1,400
Al 300
- 300
02 2324l 1,600 1,500 100
Oud st 1,600,000 1,600
= 1,120
Al 240
T 240
HAAHNE OIsE= 1,866,432 1,641,955 224,477
= 263,374
Al 945,057
- 658,001
Ots=X LEHAIY XI& 7,030 16,330 A 9,300
201 £B-2%| 7,030 16,330 29,300
01 At 22l 7,030 8,330 A 1,300
Ots¢ds 29+ 70,000& x14H 13 980
Ots=sIaaedEs 2 910
o OtSSXHAs 2E=E
70,0003 x6H #23| 840
o &= 70,000 =124 70
O0lsdelEs ¢ ofssthuy g2
1,000, 000& 1,000
Oots#elEs & otssHueg =24 4,140
oOtSSHULRAAS 2+
70,000 x 12 *13] 840
o OlsdclES & OtsSHHY WAt
= 220,000& 1501 = 3,300
ZA0ts 24 X& 1,301,550 1,201,575 99,975
Al 650,775
T 650,775
301 LPEXF 1,301,550 1,201,575 99,975
Al 650,775
T 650,775
01 MEIBEE 263 1,301,550 1,201,575 99,975




2N
X ZH -
L= B

el

& ots
otsEX 22 &

[l il

FAAHS OS2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

OZAaots =AKE 1,301,550, 000& 1,301,550
Al 650,775
- 650,775

AAOS NN (ZUHL LIS =) 192,600 196,200 A 3,600
2 134,820
Al 57,780

301 LA S 192,600 196,200 A 3,600
= 134,820
Al 57,780

01 MEIBEE 2063 192,600 196,200 A 3,600
O=UWgLIE ==& NF 192,600,000 192,600
= 134,820
Al 57,780

QA0ts NHEXN (HMOtS AREXF) 9,074 9,074 0
= 6,352
Al 2,722

301 LeHBAF 9,074 9,074 0
2 6,352
Al 2,722

01 MI28E 6= 9,074 9,074 0
OXots d=2xa XA 9,074,000& 9,074
2 6.352
Al 2,722

QA0ots HENJ(LL=4012t DIXH) 2,100 2,100 0
= 1,470
Al 630

301 LPEXZ 2,100 2,100 0
2 1,470
Al 630

01 MEIBZE 05z 2,100 2,100 0
oY=l LR 2,100,000& 2,100
= 1,470
Al 630

YAOIS BN (YL H4E NE) 8,100 8,100 0
= 5,670
Al 2,430

301 LA F 8,100 8,100 0
= 5,670
Al 2,430

01 AR 2ZH 53 8,100 8,100 0
Oz (gAHE) N 8,100,000& 8,100
= 5,670
Al 2,430

SO SEE 2P X & 215,808 208,576 7,232
= 79,397
Al 136,299




=M 80 S Dt
HE: Ols=X A 57

el HANS OISES (chel & 9l)
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- 112
307 glz2tol & 215,808 208,576 7,232
= 79,397
Al 136,299
T 112
10 ALl SXAIEEE 2 H EX 198,605 179,746 18,859
Ostmlisiols&EE 2SN 198,493, 000& 198,493
= 79,397
Al 119,096
OsHIooiotsaE A=A EWSEHl X
el 28,0003 x4H 112
11T AL SXAEE = 17,203 28,830 A 11,627
OStHuloHOts & & SALA =28 =&
16,153,000& 16,153
Al 16,153
OstthuloHots& & SALA =2X&E= &
650,000& 650
Al 650
OsHIlcHotsdEE SAX SA2Z &4l X
el 400,000& 400
Al 400
2ES0ts 188 2IXH 89,247 0 89,247
= 35,665
Al 53,498
2 84
307 21201 A 89,247 0 89,247
= 35,665
Al 53,498
- 84
10 M2 SXNANEHE2IHEX 89,247 0 89,247
OREsOs 088 22 XNI& 89,163,000 89,163
= 35,665
Al 53,498
OZsHEINE ASIESXAMN EDSH X
84,000& 84
SSHEIE SAAL I3 EEH| 31,315 0 31,315
Al 31,315
307 gl2tol & 31,315 0 31,315
Al 31,315
11T M SRASE EX 31,315 0 31,315
OZSHEINE SAML LSEEH N
31,315,000 31,315
Al 31,315
SSMEIE BEAL SXE X 540 0 540
Al 540
307 21201 A 540 0 540

Al 540




=M 80 S Dt
HE: Ols=X A 57

Eel: HAAHNE OISES CEE-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
11 AISI S XA E = 540 0 540
O3sdEIIE SAN s8> K&
540,000& 540
Al 540
SSHEIE SAL SEgAa238dl X3 400 0 400
Al 400
307 glz2tol & 400 0 400
Al 400
11T ASI S RAEE = 400 0 400
OZSHEIE SAA SA2HAH XA
400,000& 400
Al 400
SSHEIE Ols 223844l XN& 120 0 120
Al 120
307 gl2tol& 120 0 120
Al 120
11 AMISIAIEE X 120 0 120
O=Zsdald Ots AZHAH X
120,000& 120
Al 120
SSMHEIE T2 3 XI& 8,548 0 8,548
Al 8,548
307 2I2+0 & 8,548 0 8.548
Al 8,548
11 AMSSIAIEE S 8,548 0 8,548
OSsMEIIE Tz )dX A& 8,548,000 8,548
Al 8,548
2L JHE B3 529,998 431,914 98,084
= 236,160
Al 178,179
- 115,659
AUAEINE 2 IIEAY IS 126,000 86,400 39,600
Al 88,200
- 37,800
301 gEd = 126,000 86,400 39,600
Al 88,200
- 37,800
01 MI2EZE 45z 126,000 86,400 39,600
OA2EAHIIE & JHEAE 2dsEX3 XN
126,000, 000& 126,000
Al 88,200
- 37,800
2E8AHIE S X& 74,600 70,200 4,400
Al 37,300
- 37,300




AR GRS N S

M ols=X A ZZ
gelr AdAH I BS (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 LEHZ 74,600 70,200 4,400
Al 37,300
- 37,300
01 MEI2EZE 45z 74,600 70,200 4,400
O=&3aldl & =s&dH 90,000&*20H »23] 3,600
Al 1,800
- 1,800
OPNI=FSE=g= 8,000,000& x6H 13| 48,000
Al 24,000
T 24,000
Os&t&tl 15,000, 000& 15,000
Al 7,500
- 7,500
OlfstAed= 2,000,000 »4H x13] 8,000
Al 4,000
- 4,000
Ot=s 2 < XI& A X 270,998 254,314 16,684
= 189,880
Al 40,559
- 40,559
301 EEEd = 270,998 254,314 16,684
= 189,880
Al 40,559
- 40,559
01 MI2EZE 06z 270,998 254,314 16,684
OOsZLERNAAE BRUES XS
270,998,000 270,998
= 189,880
Al 40,559
- 40,559
UANHASLOIS H2AXE N 4,400 6,600 ~2,200
=2 3.080
Al 1,320
301 LeHBAF 4,400 6,600 A 2,200
= 3,080
Al 1,320
01 MI2ZHE 6= 4,400 6,600 A 2,200
OgLIFEOEs delxlzg XA
4,400,000 4,400
= 3,080
Al 1,320
SEEROS(NE, NBIAY) VYSY NS 54,000 14,400 39,600
= 43,200
Al 10,800
301 LA F 54,000 14,400 39,600
= 43,200
Al 10,800




2N

& ots

Ha: Ols=X AY B
Colr AUAH JIE B35 (el @ e)
2 S 4
SA BB (SH) - NRAY - B Ol At o %E& HRE2
01 Al E & A 452 54,000 14,400 39,600
OBSZ20ts (A& JIEQE) e s
54,000,000 54,000
= 43,200
Al 10,800
CHerH s=sSAY K& 304,984 586,852 A 281,868
= 108,720
Al 45,460
- 150,804
CIeH =AY 249 106,444 85,424 21,020
201 £Et24 | 980 980 0
01 AP 2t 2| H| 980 980 0
OXEss82dd 9 =< 70,000 *x7H 23] 980
307 gizto| & 105,464 84,444 21,020
11T AISIEXAIEEX 105,464 84,444 21,020
OF& s UEN sS4 =X
99,464,000 99,464
OHIIEE UEN sS46EH FIXLH
6,000,000& 6,000
Cletn=sHde &Xd XS 70,000 276,788 N 206,788
= 45,000
Al 12,500
- 12,500
401 AlEHIZL £ 0HY| 50,000 0 50,000
= 25,000
Al 12,500
- 12,500
01 Al&H| 50,000 0 50,000
OUEN sS4y cl2ddd| 50,000,000 50,000
= 25,000
Al 12,500
- 12,500
402 SI2FXHE0| ™ 20,000 276,788 A 25h6,788
= 20,000
02 QX2 A E X (0| XM THS) 20,000 276,788 A 256,788
OCEMN S4ME I XHAH Y| 20,000,000 20,000
= 20,000
CtetNsES4dE olHd X 119,340 210,240 A 90,900
= 59,670
Al 29,835
- 29,835
307 2Iz2to| & 119,340 210,240 A 90,900
= 59,670
Al 29,835
- 29,835




2N

& ots

¥ ols=X A 53
S OGN SsSAY XJ (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 119,340 210,240 290,900
OC&EMN SsHdH olH4dl XI& 119,340,000 119,340
2 59,670
Al 29,835
- 29,835
CENsSsHH 22H X 8,100 14,400 A 6,300
2 4,050
Al 2,025
T 2,025
307 21201 A 8,100 14,400 A 6,300
= 4,050
Al 2,025
T 2,025
11T M3 SRASEEX 8,100 14,400 A 6,300
OUEN =sSHH 2g4 XA 8,100,000 8,100
2 4,050
Al 2,025
T 2,025
CtatH SSdE SAA S22 8d X3 400 0 400
Al 400
307 gl2tol & 400 0 400
Al 400
11 ALSI S RALEE = 400 0 400
OUEN SsSHH SAA SEA2FEH X2
400,000& 400
Al 400
CtetHl ssSHH SN SXNES K& 700 0 700
Al 700
307 21201 A 700 0 700
Al 700
11T AL S XAEE = 700 0 700
Ot =sdE SML sSXE+= X&
700,000& 700
Al 700
YUEDA L UAOGSHE 29 2,171,120 2,196,519 ~25,399
= 630,704
Al 585,483
- 954,933
gusna 23 200,000 412,479 A212,479
307 21201 A 200,000 412,479 A212,479
IEEVIEE: 200,000 412,479 A212,479
Ogu=nws 24 200,000, 000& 200,000
NSotsdye 248 K& 977,520 899, 760 77,760
= 488,340
Al 244,170




AR GRS N S

Bu: ols=x AY B
& ghswnd ¥ JAosHH 29 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
- 245,010
307 glz2tol & 977,520 899, 760 77,760
= 488,340
Al 244,170
T 245,010
10 M SXNANEHI2IHE=X 977,520 899, 760 77,760
OXNHOISHE 2l XN (I=29yl)
960,960,000 960,960
= 480,480
Al 240,240
T 240,240
OXgotsdEe 2J1#FI X 11,040,000& 11,040
= 5,520
Al 2,760
- 2,760
OXgotsdH Sotd otal 20l olgz Xl
2 4,680,000 4,680
= 2,340
Al 1,170
- 1,170
OX<GOotsHdEH AL AMSI=XA E21WFH|
28,000& x30H 840
ANEotsdH &3Md X 20,000 56, 150 A 36,150
= 10,000
Al 5,000
- 5,000
307 21201 A 20,000 56, 150 A 36,150
= 10,000
Al 5,000
- 5,000
10 M2 SXNANEHE2IHEX 20,000 56,150 236,150
OX<gotsdH 3 XA 20,000,000& 20,000
= 10,000
Al 5,000
T 5,000
E4E NEotsdEH FIOHXI& 43,824 29,232 14,592
= 21,912
Al 10,956
T 10,956
307 glz2tol & 43,824 29,232 14,592
= 21,912
Al 10,956
- 10,956
10 M ZXNANEHI2IHE=X 43,824 29,232 14,592
SE+S8E XNY0orsdE FIXA
29,232,000& 29,232
= 14,616
Al 7,308
T 7,308




2N
X ZH -
L= B

el

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OERed9 XNY90otsHdEe FIHAH
14,592 ,000& 14,592
= 7,296
Al 3,648
- 3,648
XNE0otsHH ats=d K& 42,840 42,840 0
Al 21,420
- 21,420
307 QI2t0| & 42,840 42,840 0
Al 21,420
- 21,420
11 AMISAAEE X 42,840 42,840 0
OXNY0otsHEH stsstd X 42 ,840,000& 42,840
Al 21,420
- 21,420
XNE0otsSHE SALA X3+ K& 5,000 4,950 50
Al 5,000
307 QI2t01 ™ 5,000 4,950 50
Al 5,000
11 A SAAEE X 5,000 4,950 50
OX<EotsHdEH SAA EXESE XS
5,000,000 5,000
Al 5,000
XNEO0tSHE SAIA SE§AHAL23&H XA 2,600 2,200 400
Al 2,600
307 212+0] & 2,600 2,200 400
Al 2,600
11 A SAAEE X 2,600 2,200 400
OXNGOtSHE SAHA SSAHL2&H K&
2,600,000 2,600
Al 2,600
XNE0tsHEH 0l20ts A3 & HE X3 6,900 6,900 0
Al 6,900
307 QI2t0| ™ 6,900 6,900 0
Al 6,900
11 AMISAAEE X 6,900 6,900 0
OXYotsdEH Ol20s H2HE HIS XA
6,900,000& 6,900
Al 6,900
XNE0tSHE 0/l20ts 0IMS X &X0tAT XS 3,820 0 3,820
Al 3,820
307 ©12+0I & 3,820 0 3,820
Al 3,820
11T A EXAIEE X 3,820 0 3,820




RSN S}

M OlsS=EX #Y &l
o WNSDA U NAOGSHE = CEEEED
(o
SN ED B (3H) - MEAY - BAS %Eﬁ HD=2
OXNY0otsHEH 0lS0ls 0IMHX X 0tA3
X & 3,820,000& 3,820
Al 3,820
KNEOotSHEH SAIA d2E28H XS 363,933 216,634 147,299
Al 181,966
- 181,967
307 2Iz2t0| & 363,933 216,634 147,299
Al 181,966
- 181,967
11T AISIEXAIE EX 363,933 216,634 147,299
OXE0t=sSHEH SAX A2 EXH &
363,933,000 363,933
Al 181,966
- 181,967
XNE0otsdy T2 29 X 41,000 60,650 A 19,650
Al 10,500
- 30,500
307 212t0| & 41,000 60,650 AN 19,650
Al 10,500
- 30,500
11 A EXAIEEX 41,000 60,650 A 19,650
OXY0tsHdy T2 29 X (BX)
21,000,000 21,000
Al 10,500
- 10,500
OXYotsHdy T2 29 XS (XA
15,000,000& 15,000
OX<E0otsHdy Bt&lEe T2 X&
5,000,000& 5,000
XNE0olsSHE SAE20 2124H K& 197,270 193,848 3,422
Al 29,927
- 167,343
307 212t0| & 197,270 193,848 3,422
Al 29,927
3 167,343
1 ASIE XA E X 197,270 193,848 3,422
OX<E0otsHdyH $sts 2AE0 oAHd XA
29,927,000 29,927
Al 29,927
OX<E0otsHdy A4 =220 224d] XN&
167,343,000 167,343
NEotsSHEH SStHEEs A 4,000 0 4,000
Al 4,000
307 QI2t0| & 4,000 0 4,000
Al 4,000
11 A EXAIEEX 4,000 0 4,000




=M 80 S Dt
HE: otS=X AY B

& ghswnd ¥ JAosHH 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXgotsdH 2atdsgs XN
4,000,000& 4,000
Al 4,000
NGotsdE 1229 s K& 4,000 0 4,000
Al 4,000
307 gl2tol & 4,000 0 4,000
Al 4,000
11T M SXAISE EX 4,000 0 4,000
OXNYotsdH 1839 #= X2
4,000,000 4,000
Al 4,000
ANE0tsdE OtsHEEMN 2| ZHAEE 1,000 5,000 A 4,000
307 21201 A 1,000 5,000 A 4,000
11T AL SXAEE = 1,000 5,000 A 4,000
OXY0ts4dH OtsHE=EM 23 ZHAEE
1,000,000 1,000
ASG0tsdH f2ns K& 3,900 5,200 A 1,300
307 21201 A 3,900 5,200 A 1,300
11T MISRASEX 3,900 5,200 A 1,300
OXdotsdyd 22u=s &
300,000 * 1304 & 3,900
OlS SN WA AKX (XS0tSHEH X&) 253,513 213,564 39,949
= 110,452
Al 55,224
T 87,837
101 14l 253,513 213,564 39,949
= 110,452
Al 55,224
T 87,837
04 JI2ZtHZ22HEE = 253,513 213,564 39,949
OXSGotSHEH OtSSX WAL K&
220,901,000& 220,901
= 110,452
Al 55,224
- 55,225
ONYIR(Ss20H) & OHl 1,800,000 1,800
OJIZtH 22X HEL3E2H83  30,812,000& 30,812
CEAEE 509,428 520,428 A 11,000
= 275,228
Al 34,403
T 199,797
FHAHE OlsSEMEIA XA 509,428 520,428 A 11,000
= 275,228
Al 34,403
T 199,797




=M 80 S Dt
HH: OS =N A B

il

ol CRAEE ECR-E)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
101 14 Hl 252,982 167,340 85,642
= 126,060
Al 15,757
- 111,165
03 RIAHAZZAE S 252,982 0 252,982
OO0tS S At 22l A el 48| 201,080, 000& 201,080
= 126,060
Al 15,757
- 59,263
OO0tsSE At 2 elAb M= 51,902,000 51,902
201 2| 112,522 220,506 A 107,984
= 38,048
Al 4,756
- 69,718
01 At 22l 25,768 32,586 N6,818
O= &l 5,760,000& 5,760
= 4,608
Al 576
- 576
OgBt=&H| 12,910,000& 12,910
= 10,328
Al 1,291
- 1,291
O&=Dl, B3I, MYJ =
1,460,000 1,460
= 1,168
Al 146
T 146
ORZ+2 (A3, HERF, =HUHE S)
2,830,000 2,830
= 2,264
Al 283
T 283
OeIIAEE # & &2 HH S
2,808,000 2,808
02 ZZ2YH| 6,760 74,820 68,060
O32323 % HMA 2,980,000& 2,980
= 2,384
Al 298
- 298
OSEEEAAE S X 2] 780,000& 780
= 624
Al 78
T 78
OHdHAIE & ZH SX2e2ltl 3,000,000& 3,000
= 2,400
Al 300
- 300

03 A2 EHI 79,994 113,100 A 33,106




2N
X ZH -
L= B

el

o & ot=s ot
ots=X 22 58
CEAEE

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
OEEARE Z20d 29 17,840,000 17,840
= 14,272
Al 1,784
- 1,784
O2ua 29 12,465,000 12,465
OHds elna 360,000 360
OuWYHH EH2E W 5,400,000 5,400
OdEZ Z2 ) 4,392,000 4,392
OESHAEIE BetABE 29 39,537,000 39,537
202 044 10,260 10,260 0
= 8,208
Al 1,026
- 1,026
01 2L I 10,260 10,260 0
OEYAEIE AIEE2 & bl 2 S 04l
10,260,000& 10,260
= 8,208
Al 1,026
- 1,026
203 &2 =&XH| 1,000 1,000 0
= 800
Al 100
- 100
03 Al ZH =& 2 5 X H| 1,000 1,000 0
OANZFRNHLZF=XH| 1,000,000 1,000
= 800
Al 100
- 100
301 et A =2 132,664 121,322 11,342
= 102,112
Al 12,764
- 17,788
01 Al B & A 46 2 130,040 118,407 11,633
O0ls ¢Y g9y T ) Hs Ad
110,800,000 110,800
= 88,640
Al 11,080
- 11,080
OB T ) 16,840,000& 16,840
= 13,472
Al 1,684
- 1,684
OHIHH dHEd T2 )N 2,400,000 2,400
09 #HAIAHI XIS 2 2,624 2,915 A 291
OESHAEIE BetABE 29 2,623,500 2,624
HHSAAY (HL0ots ) 34,317 35,776 A 1,459
= 6,292




A 0{H0IS Dt
M HM2HAH (HLE0otsS W)
G olE2d9y|(H-d0ol=s ) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 787
- 27,238
Pl SAEH|(HA0otS ) 8,996 0 8,996
2 6.292
Al 787
- 1,917
Pl HNEAY(HL0ISHH) 8,996 0 8,996
= 6,292
Al 787
= 1,917
101 Q124 4] 8,996 0 8,996
2 6,292
Al 787
- 1,917
02 JIEA 2 %= 8,996 0 8,996
O0lsEsdEd ol2dd| 8,996,000 8,996
= 6.292
Al 787
- 1,917
Jl2Zdl (& ots 1) 25,321 35,776 A 10,455
JI2ZHHNEAS(HL0IS D) 25,321 35,776 A 10,455
201 gEt24H | 13,296 14,773 NT,477
01 AP 22| d| 13,296 14,773 N1,477
OgBt=24| 54 5903 x 1228 x12& 0.9 7,075
Ol 8,000 x12H »6Al 128 x0.9 6,221
202 04| 7,776 11,520 N3, 744
01 2L I 7,776 11,520 N3, 744
ERJGA| 10,000 128 x62 x 122 x0.9 7,776
203 €2 F=&d| 3,000 3,000 0
04 BH2HAREAY| 3,000 3,000 0
ORI LR 250,000& x12& 3,000
405 XHo&HF S HI 1,249 6,483 N5,234
01 XL 2 ZFF S| 1,249 6,483 N5,234
OAMRA &I 7Y 1,249
o At 240,000 *2JH*0.9 432
o MEE oKt 170,000& 204 *0.9 306
o ME 120,000 2JH*0.9 216
o ItEIA 135,000 =101 +0.9 122
o IIEIE Or2dt 12,0002 *1J1*0.9 11
o MASRLZ 90,000& *2J1 0.9 162




= O-I
N & 0l & AF & E A A
SN BUERD
M HEM =5
el SMEHANR (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SMEF 105,072,571 91,890, 847 13,181,724
= 52,339,078
Al 35,213,900
- 17,519,593
MEM =25 4,778,512 4,930,172 A 151,660
Al 2,500,000
- 2,278,512
SMEAXE 4,778,512 4,927,972 A 149,460
Al 2,500,000
- 2,278,512
SiFeiz N 1,660,000 1,860,000 A200,000
301 LPENF 1,660,000 1,860,000 A200,000
01 MEIBEE 253 1,660,000 1,860,000 A 200,000
OsdZddz 1,660,000, 000& 1,660,000
s - S0t KNES 2,500,000 2,474,000 26,000
Al 2,500,000
301 LBEAZ 2,500,000 2,474,000 26,000
Al 2,500,000
01 Al EE H =06l = 2,500,000 2,474,000 26,000
Osd - K0t NAS 2,500,000, 000& 2,500,000
Al 2,500,000
AR OFH YA (mother box) 390,000 436,800 A 46,800
A&
301 LENF 390,000 436,800 A 46,800
01 MEIBEE X263 390,000 436,800 246,800
O DtHE A (mother box) Xl &
390,000,000 390,000
EHwZ<3l 15,000 20,000 A5,000
201 Let24E] 15,000 20,000 A5,000
03 A2 Z Hl 15,000 20,000 25,000
OEuE%3 15,000, 000& 15,000
MEd 3= 83 =4 9,180 10,000 A 820
201 Let24d| 9,180 10,000 A 820
01 At 22/l 9,180 10,000 A 820
OM&sd 22 2 HHQ &S
10,000,000& *0.9 9,000
OMEd =5 234 EEE ME 180,000 180
QIAIDHM QI = 1,500 4,500 23,000
201 LB-2E| 1,500 4,500 A 3,000
01 At 22l 1,500 1,500 0
O zus 2A=+< 150,000& =103 1,500




AN SUHEFH
g Nsd
el SM4FHXE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FAMU =4 KA 2 1,932 672 1,260
201 £B-2d| 1,932 672 1,260
01 At 22l 1,932 672 1,260
OFAU =84 |X 2 2g| 1,932
o d=J U= 30,000& 128 360
o SJIEEI U= 26,0003 123 312
o rRd 2 1,260,000 1,260
sS4 T g8 =8 900 1,000 A 100
203 YR =2t 900 1,000 A 100
03 AIMFAH S ZAY| 900 1,000 A 100
OsdXd J2FA 900,000 900
Ottt =0tE X Hed= X & 200,000 100,000 100,000
301 LeBAF 200,000 100,000 100,000
01 Ml28E 6= 200,000 100,000 100,000
OOttt S0t5& Hed2 XA 200,000, 000& 200,000
ESAMHIA = 100,218,987 86,809,475 13,409,512
= 52,339,078
Al 32,713,900
- 15,166,009
SESJ|IE =4 516,043 1,658,331 AN 1,142,288
= 93,700
Al 46,850
- 375,493
d HEdeE 2els 2SEHEE £X 170,000 0 170,000
401 Al HI R 201 I 110,000 0 110,000
01 A& HI 110,000 0 110,000
O=380eolE cl22 |
110,000, 0003 *1JH £ 110,000
402 RI2EX 20| ™ 60,000 0 60,000
03 212t &AL S HI 60,000 0 60,000
O=2320eolE JIXM
60,000,000& =14 2 60,000
ST zols UZ0E0E =3 HEE AE( 130,000 0 130,000
A=)
= 60,000
Al 30,000
T 40,000
401 Al HIZ 201 8] 110,000 0 110,000
= 55,000
Al 27,500
T 27,500
01 A& HI 110,000 0 110,000




SN BMEED
Bu: B HHA S0
el BRSIIY X4 (29l & 2)
SA-3H-S(3AH) - MRAS - BES Off &t 24 %Eﬁ Hns2
SEERPRENEIEEERTT
110,000,0002! *17H & 110,000
2 55,000
Al 27,500
N 27,500
402 912t X2 0 & 20,000 0 20,000
2 5,000
Al 2,500
N 12,500
03 B2+ 9ISt A B 20,000 0 20,000
O2ZYO0RI0IE IR
20,000, 0009 * 174 20,000
2 5,000
Al 2,500
N 12,500
OIZIOIE BANE(H24) 74,403 0 74,403
2 33,700
Al 16,850
N 23,853
307 21201 & 5,500 0 5,500
I eSS 5,500 0 5,500
OSROIRI0IF Ol Ayl 5,500, 00021 *17H & 5,500
401 NEHIL2THYI 68,903 0 68,903
2 33,700
Al 16,850
N 8,353
01 A&l 62,221 0 62,221

| 1,503,700& * 100 A& 1,504

E9d
O=380e0ld HE=HI(3M2)

60,717,0002 60,717
= 30,359
Al 15,179
= 15,179
02 22l 6,682 0 6,682
OSBOROIE &eiahi 2l
6,682,00021 * 104 2 6,682
= 3,341
Al 1,671
= 1,670
SSDXY Q- HEAAY K 5,250 13,500 £8,250
307 QI2+0| ™ 5,250 13,500 £8,250
I EEENEEES 5,250 13,500 8,250
OSSDER o - A X
50,0002 %359 5,250
2z WA 2,500 9,000 6,500

307 glztol & 2,500 9,000 26,500




AN BSMESD
dM: EFAMHA =M
oelr RS X4 (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 2,500 9,000 26,500
O=3E0Heol&d A =Hl  500,000& 5 £ 2,500
=4 HEolds 532 2el 2,640 7,203 A 4,563
201 LBt 2,640 7,203 AN 4,563
01 At 22l 2,400 5,203 A 2,803
OZ& ORI0IY RABHAAY 29
100,000 & * 123 201 A& 2,400
02 2324l 240 2,000 A 1,760
O34 ey 232=
10,0003 * 122 «2J4 & 240
ESFMARSE 29 10,800 9,000 1,800
201 Let24E] 10,800 9,000 1,800
01 At 2t 2l 10,800 9,000 1,800
OESZHAZs 2g 100,000& »12H x93| 10,800
EI|E BRFA 450 500 A50
203 YR =&t 450 500 A50
03 Al =AY R4 450 500 A50
OESJI|gt d2F4& 450,000& 450
las NS0 i =238 88 &X 120,000 0 120,000
401 AIEHI L 20HYI 100,000 0 100,000
01 A& Bl 100,000 0 100,000
OXIIAR HEUE0E AIIYX Al
100,000, 000& 100,000
402 RI2FXt20l M 20,000 0 20,000
03 212t & AL S HI 20,000 0 20,000
OMIA2% JIMENHE0E IR eI &l
20,000,000& 20,000
ER0s & MEXH 97,776,016 82,865,824 14,910,192
= 52,245,378
Al 32,327,596
- 13,203,042
s X 11,771,337 11,676,684 94,653
= 8,828,503
Al 2,059,984
- 882,850
301 LA F 11,771,337 11,676,684 94,653
= 8,828,503
Al 2,059,984
T 882,850
01 AR 2Z A5 3 11,771,337 11,676,684 94,653
Otggssg 11,771,337,000& 11,771,337
= 8,828,503




EX: SHEF
M SRAMHA S
e BEx0ls € AMEXE (ct
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
A 7,059,964
- 882,850
geotEss XA 40,750,547 33,114,852 7,635,695
= 30,562,910
Al 7,131,346
- 3,056,291
307 2Iz2t0| & 40,750,547 33,114,852 7,635,695
= 30,562,910
Al 7,131,346
- 3,056,291
11T A EXAIEEX 40,750,547 33,114,852 7,635,695
ORI Ex2 40,750,547 ,000& 40,750,547
= 30,562,910
Al 7,131,346
- 3,056,291
OI3~5MI0F el 29 X3 12,448,435 10,927,873 1,520,562
Al 12,448,435
307 giztol A 12,448,435 10,927,873 1,520,562
Al 12,448,435
11T A EXAIEEX 12,448,435 10,927,873 1,520,562
OBt 3-5HI0t L2 DT BK2
9,065,593,000& 9,065,593
Al 9,065,593
08 3-5KI0F FRIDT 2U+Y S 2]
3,382,842,000 3,382,842
Al 3,382,842
2edgszs | 2,090,400 1,608,250 482,150
Al 632,654
- 1,457,746
307 gizto| A 2,090,400 1,608,250 482,150
Al 632,654
- 1,457,746
11T AISIEXAIEEX 2,090,400 1,608,250 482,150
2oedegszs & 2,090,400,000& 2,090,400
Al 632,654
- 1,457,746
CGXEIIIE 228Y B2 85,753 75,168 10,585
Al 60,027
- 25,726
307 QI2+0| & 85,753 75,168 10,585
Al 60,027
5 25,726
11 Al EXAIEEX 85,753 75,168 10,585
OUXUEIIE |28d B2 85,753,000 85,753
Al 60,027
- 25,726




b

SN BNESD
dM: EFAMHA =M
Sl BS0IS L AAXY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEMASEOs ER0XNEANE 018 ANBESS 49,176 69,738 N 20,562
A&
Al 24,588
T 24,588
307 21201 A 49,176 69,738 A 20,562
Al 24,588
T 24,588
11T MISAASEEX 49,176 69,738 220,562
OHBHASSOS FLONFAL 018 X
g2sg & 49,176,000& 49,176
24,588
24,588
HEMALASEO0s Qe EFH A& 461,640 423,012 38,628
Al 230,820
T 230,820
307 glz2+ol & 461,640 423,012 38,628
Al 230,820
T 230,820
11T MISXASER 461,640 423,012 38,628
OBIMASEOS D% ZoHY|
461,640,000 461,640
Al 230,820
- 230,820
AMZEHIESAMEIA HBRE 414,880 268,073 146,807
2 207,440
Al 103,720
T 103,720
307 glz2+ol & 414,880 268,073 146,807
= 207,440
Al 103,720
T 103,720
11T MIEXASEX 414,880 268,073 146,807
OAIZLH 25 X & 414,880,000 414,880
= 207,440
Al 103,720
- 103,720
ESWEPA olAHl XA 11,036, 140 8,322, 156 2,713,984
= 6,621,684
Al 3,090,119
T 1,324,337
307 21201 A 11,036, 140 8,322,156 2,713,984
= 6,621,684
Al 3,090,119
- 1,324,337
10 AL SXNAIEEE2EHEX 11,036, 140 8,322, 156 2,713,984
OUEO0IE ZSAA elAH] 11,036, 140, 000& 11,036, 140
= 6,621,684




AN BSMESD
dM: EFAMHA =M
&?H?: E|]0Es E AEX (&
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,090,119
T 1,324,337
SELNHY HRME N (Y DAXAH]) 3,968,180 2,615,632 1,352,548
= 2,380,860
Al 1,111,082
- 476,238
307 glz2tol & 3,968,180 2,615,632 1,352,548
= 2,380,860
Al 1,111,082
- 476,238
11T M SRAISE EX 3,968,180 2,615,632 1,352,548
O AKX &bl 3,816,000, 000& 3,816,000
= 2,289,600
Al 1,068,480
- 457,920
OuAIBHJAZT = 152,180, 000& 152,180
= 91,260
Al 42,602
T 18,318
ESWNA MM XN (BZWARI24H]) 4,594,561 3,303,333 1,291,228
= 2,756,737
Al 1,286,477
- 551,347
307 gl2tol & 4,594,561 3,303,333 1,291,228
= 2,756,737
Al 1,286,477
- 551,347
10 AL SXAIEEE2EH EX 4,594,561 3,303,333 1,291,228
ONBI0IE BZwA 148 X2
4,594 ,561,000& 4,594,561
= 2,756,737
Al 1,286,477
T 551,347
PSP MM XS (HHRA) 268,452 230,628 37,824
= 134,226
Al 67,113
- 67,113
307 21201 A 268,452 230,628 37,824
= 134,226
Al 67,113
- 67,113
11 AL SXAEE = 268,452 230,628 37,824
OBSuHA MRMA X3 (O A
268,452,000 268,452
= 134,226
Al 67,113
- 67,113
SWAL S AH XS 2,640,480 2,510,724 129,756




EX: SHEF
HM: BE=HHA =2
e BEx0ls € AMEXE (&
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 1,320,240
- 1,320,240
307 2iz2to| A 2,640,480 2,510,724 129,756
Al 1,320,240
- 1,320,240
11T AISIEXAIEEX 2,640,480 2,510,724 129,756
OBSWAI HRIMAH| 2,640,480,000& 2,640,480
Al 1,320,240
- 1,320,240
HE0IXNE Helold =2l o2y 663,396 603,802 59,594
Al 331,698
5 331,698
307 QI2t0| ™ 663,396 603,802 59,594
Al 331,698
- 331,698
11 Al EXAIEEX 663,396 603,802 59,594
OFE0XNE ofelold XZel| oA
663,396,000 663,396
Al 331,698
- 331,698
A2 2 240 0d XZ2|¥ olHdl X&E 409,500 711,000 A 301,500
307 QI2t01 & 409,500 711,000 A 301,500
11T AISIEXAIEEX 409,500 711,000 A 301,500
OAAR & 240He0ld =2l& 2lAddl X
409,500,000 409,500
20|t 2E XA (MW FH|) 127,715 109,081 18,634
= 76,629
Al 35,760
- 15,326
307 giztol A 127,715 109,081 18,634
= 76,629
Al 35,760
- 15,326
10 MM SAANEEHESIHEX 127,715 109,081 18,634
O0e0ld 2L XN (WHw2Hl)
127,715,000 127,715
= 76,629
Al 35,760
5 15,326
ARE Helold E&A IR XS 38,500 0 38,500
= 19,250
Al 9,625
- 9,625
307 2iz2to| A 38,500 0 38,500
= 19,250
Al 9,625




-

SN EAESD
M SRAMHA S
&?H?: E|]0Es E AEX (¢t
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 9,625
11T MISXASEX 38,500 0 38,500
OL7A2 Heold E&4 JIXAM X&
38,500, 000& 38,500
= 19,250
Al 9,625
T 9,625
0oy el XI& 174,216 172,938 1,278
Al 87,108
T 87,108
307 glz2+ol & 174,216 172,938 1,278
Al 87,108
- 87,108
11T MISXASEX 174,216 172,938 1,278
ONgold Wterdl X 174,216,000& 174,216
Al 87,108
- 87,108
Ogols 434 & 1,257,081 1,278,279 221,198
Al 879,957
- 377,124
307 21201 A 1,257,081 1,278,279 221,198
Al 879,957
- 377,124
11T MISRAISEX 1,257,081 1,278,279 A 21,198
O0Z0lE BHRASA N
1,257,081,000& 1,257,081
Al 879,957
- 377,124
Heold dx0t dMEHE It XN 45,060 44,844 216
Al 22,530
T 22,530
307 glz2+ol & 45,060 44,844 216
Al 22,530
T 22,530
11T MISAASEEX 45,060 44,844 216
O0gold gxrot ddEH It X&
45,060,000 45,060
Al 22,530
- 22,530
Heold 221830 gz XA 75,760 85,497 AN9,737
201 L2l 75,760 85,497 N9,737
02 2324l 75,760 85,497 AN9,737
Ooogold 3718387 gihs XN&
75,760,000 75,760
oelold el XA 24,372 18,000 6,372




EX: SHEF
HM: BE=HHA =2
e BEx0ls € AMEXE (ct
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 24,372 18,000 6,372
11T AISIEXAIEEX 24,372 18,000 6,372
Oogold 2eldl X 24,372,000 24,372
228 Helold 2d94| 1,059,649 864,715 194,934
= 635,789
Al 296,702
- 127,158
307 giztol & 1,059,649 864,715 194,934
= 635,789
Al 296,702
- 127,158
11T A EXAIEEX 1,059,649 864,715 194,934
O228 elold X& 1,059,649,000& 1,059,649
= 635,789
Al 296,702
- 127,158
228 Helold 24H| X 157,920 156,000 1,920
307 212t0| & 157,920 156,000 1,920
11T A EXAIEEX 157,920 156,000 1,920
O2=280eold 29dl N 157,920,000 157,920
228 Helold X2l oAl XA 181,440 147,120 34,320
Al 90,720
- 90,720
307 2Iz2t0| & 181,440 147,120 34,320
Al 90,720
- 90,720
11T A EXAIEE X 181,440 147,120 34,320
228 Helold Xeglg oAyl N
181,440,000 181,440
Al 90,720
- 90,720
228208 45 N (K08 29H| X)) 57,600 57,600 0
Al 28,800
- 28,800
307 2I2t0| & 57,600 57,600 0
Al 28,800
- 28,800
11T A EXAIEEX 57,600 57,600 0
OZ2Z2E€020l1& 43t X (K0tE 2HH|
INEED)] 57,600,000& 57,600
Al 28,800
- 28,800
228 HE0lE sFMAH X& 4,500 7,500 A 3,000
307 212t0| ™ 4,500 7,500 A 3,000




-

AN BSMESD
M SRAMHA S
&?H?: E|]0Es E AEX (el A
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 4,500 7,500 A 3,000
O338 Heold &ZMHad X&
4,500,000& 4,500
IMENE0lE 28X 934,800 693,600 241,200
Al 479,400
- 455,400
307 glz2tol & 910,800 677,600 233,200
Al 455,400
- 455,400
11T M ZXAISE EX 910,800 677,600 233,200
OdgNeod 2d9X& 910,800, 000& 910,800
Al 455,400
- 455,400
402 RIZ2FRt20l ™ 24,000 16,000 8,000
Al 24,000
02 DIt 2 AL EZ (01X TS ) 24,000 16,000 8,000
OoEEgNeold eZIebl 24,000,000 24,000
Al 24,000
SExESANE(HAER) 2L 228,492 176,826 51,666
Al 114,246
- 114,246
307 21201 A 228,492 176,826 51,666
Al 114,246
- 114,246
11T ALSI S XA E = 228,492 176,826 51,666
OS+BSAL(HALS)2Y X2
228,492,000 228,492
Al 114,246
- 114,246
SOIZSNVHEH 2Y(220S) 25,000 30,000 25,000
= 12,500
Al 6,250
- 6,250
307 21201 A 25,000 30,000 A5,000
= 12,500
Al 6,250
- 6,250
05 BIZERI & 3 25,000 30,000 A5,000
OS0ISEXNJMHH 2208 22
25,000,000& 25,000
= 12,500
Al 6,250
- 6,250
SIS ANLH 2 557,333 557,333 0
Al 24,000
- 533,333




2N
X ZH -
L= B

el

SMESD
S MU A =T
2R0s ¥ ANEXE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 557,333 557,333 0
Al 24,000
- 533,333
05 RIZHRI & 3 557,333 557,333 0
OFOIZENAEH 29 557,333,000& 557,333
Al 24,000
- 533,333
S0t FHAUHE 4X & 24 528,800 529,042 AN 242
Al 264,400
T 264,400
307 glz2+ol & 528,800 529,042 N 242
Al 264,400
T 264,400
05 RIZt2IE = 528,800 529,042 AN 242
OEgeE FUH2EE 2R (Hx1HE)
198,316, 000& 198,316
Al 99,158
- 99,158
OEgag a8t 29N (85H)
182,278,000& 182,278
Al 91,139
- 91,139
OZYEY ZUAHUC 24N ()
148,206,000 148,206
Al 74,103
- 74,103
OOt SEES =3Z20Y 24 50,000 82,225 A 32,225
307 glz2+ol & 50,000 82,225 N 32,225
05 RIZt2IE = 50,000 82,225 A 32,225
OZlot SEES =21Z208 29
50,000,000& 50,000
HENHEO0E 2IXE 335,272 341,865 A 6,593
307 g1zl & 335,272 341,865 A 6,593
10 AL SXAIEEE2EH EX 335,272 341,865 A 6,593
O¢=73 Helold 29 XF 335,272,000 335,272
22 2LIHEH 2¢ 17,700 15,400 2,300
= 8,850
Al 4,425
T 4,425
301 LA S 17,700 15,400 2,300
= 8,850
Al 4,425
T 4,425
12IJIEBE43 17,700 15,400 2,300
22 2UHEH 2¢ 17,700,000& 17,700




SN BUERD
HM: BE=HHA =2
Sl BS0IS L AAXY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 8,850
Al 4,425
- 4,425
200 &8 =& K& 36,540 36,540 0
201 gEt24dy| 540 540 0
01 AP 22| H| 540 540 0
O2£+=0elold &8 A M2 18,000 *30H 540
307 giztol & 36,000 36,000 0
11T A EXAIEEX 36,000 36,000 0
O2+0e0|d 848 = 36,000,000 36,000
el 0l stth(oal) molots delxzg X 7,200 7,200 0]
307 QI2t0| & 7,200 0 7,200
05 QIZIREZ 7,200 0 7,200
OOZI0lIZ SttH(oal) maolots Aelxlg XN
7,200,000& 7,200
95 B K@ UA o 2H 27,179 16,908 10,271
101 21 214| 27,179 16,908 10,271
04 JIZtHIZ22XNSE S 27,179 16,908 10,271
O%sy B K& A oA 27,179
oJlea 1,773,320 2l & «5H 17,734
o FExY 82,480& »8L x5 H 3,300
o EXxx=¢ 82,480 2 & x5H 825
o H@E 4G 1,773,320 *60%*5H 5,320
XNSEAE BExaA 29 I 270 300 A 30
201 et 270 300 A 30
01 AP 22| d| 270 300 A 30
OX<EAE BEsa4As 29 XS 270,000 270
Helold HH=EF s A& 170,740 0 170,740
Al 85,370
- 85,370
307 212t0| ™ 170,740 0 170,740
Al 85,370
- 85,370
11 A EXAIEEX 170,740 0 170,740
ONel ol ed9=23 XNIAY 170,740,000 170,740
Al 85,370
- 85,370
HR0l A2 1,215,900 2,109,120 A 893,220
BFnANI ARESH XN 621,000 1,284,000 A 663,000
307 2Iz2t0| & 621,000 1,284,000 A 663,000




AN BSMESD
dM: EFAMHA =M
ol @0l st S=CF
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 621,000 1,284,000 A 663,000
ESNIY A4 KF 621,000,000 621,000
EF WA OLOIALE =& 243,000 385,200 A 142,200
307 glz2tol & 243,000 385,200 A 142,200
11T MISRASEX 243,000 385,200 A 142,200
OE=SWA OLOIALE =Y 243,000,000 243,000
EFWA =g XA 180,000 243,000 263,000
307 21201 A 180,000 243,000 263,000
11T MISXASEEX 180,000 243,000 A 63,000
OESuwA A& XA 180,000, 000& 180,000
EFUAMN 25 =g N 165,600 165,600 0
307 gl2tol & 165,600 165,600 0
11T M SXAISE EX 165,600 165,600 0
OB|uwA 2= Zed=2 & 165,600,000& 165,600
EQESUA Hdsg 5,400 9,600 A4,200
307 g1zl & 5,400 9,600 A4,200
11T M Z2XAIS EX 5,400 9,600 A 4,200
OERESuA He=2 KA 5,400,000 5,400
ESAMY L XA 900 1,720 A 820
203 YR =&t 900 1,000 A 100
03 Al =X YR =& 900 1,000 A 100
OESXagse =& 2#H 900,000 900
JIIES0t24s X 705,908 134,400 571,508
Al 339,454
- 366,454
OtOIAtZE B H 4Xl - 29 620,908 70,000 550,908
Al 310,454
- 310,454
307 21201 A 340,908 0 340,908
Al 170,454
- 170,454
05 BIZERIE 3 340,908 0 340,908
OO0toIAZ&BH 298l XA 260,908,000 260,908
Al 130,454
T 130,454
OOtOIAFZ 2B E I XHH I 80,000,000& 80,000
Al 40,000
- 40,000
401 AIEHI L 20 280,000 50,000 230,000
Al 140,000
- 140,000




AN BSMESD
Sk

M EFMHIA =
el HESFHELEXH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 277,840 49,460 228,380
OOtOIMNESE &X 2122 Y|
277,840,000 277,840
Al 138,920
T 138,920
03 Al 2 THHI 2,160 540 1,620
OOIOIAtE EH &X AIZ=0Hl  2,160,000& 2,160
Al 1,080
T 1,080
rE=sE4s 29 X& 85,000 64,400 20,600
Al 29,000
- 56,000
307 21201 A 85,000 64,400 20,600
Al 29,000
T 56,000
05 RIZt2IEt = 85,000 64,400 20,600
ONES02dsXdH 22 N&
45,000,000& 45,000
Al 9,000
- 36,000
ONE=s0gds 2208 EsSAg X3
40,000,000& 40,000
Al 20,000
- 20,000
Helold Xz&2 5,120 5,800 A 680
Helold XI&&Ed 5,120 5,800 A 680
202 oddl 4,320 4,800 A 480
01 = LH o4 1l 4,320 4,800 A 480
O0eold NEFEZE & S0
10,0003 *»4H « 10« 12& %0.9 4,320
203 &R =T Y| 800 1,000 A 200
03 AIBFXH R =AY 800 1,000 A 200
O0eold XNdEd 2= 800,000& 800
HYRIZH (BAESD) 75,072 151,200 AT6,128
AFEIH(EMESD) 44,212 114,191 269,979
2ol MRAL(BAESD) 44,212 114,191 69,979
101 124 dl 44,212 114,191 269,979
03 RIAHAZZ2TE = 44,212 114,191 A 69,979
ORIAHA2ZX E= 44,212
oJlE=a 2,317,860 x1H +x12& 27,815
o ZU2R+E 11,710 % 1.5+30A1 2+ x 123 6,324
0o R¥2RE 11,710& 1.5+ 16 Al 2+ x 12& 3,373
o M=C3l & A 20,000 x23| 40




AN BSMESD
M HER2GIU(BMES)
Crol: ol ey (a2 S ) CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o =4l 130,000& 12 1,560
o BE FOtHI 2,317,860& *0.6%23] 2,782
o 24 2,317,860& 2,318
Jl2dtl(saE=s1) 30,860 37,009 AN6,149
JI2BHINMEMNS (EM4ES) 30,860 37,009 N6, 149
201 LB-2d| 18,836 20,929 A 2,093
01 At 2t 2l 18,836 20,929 A2,093
O e8| 54,5003 x17Hx12&+0.9 10,023
O=&Hl 8,000 x17H 641 «12& +0.9 8,813
202 O4dl 8,424 12,480 A 4,056
01 =S LHAYI 8,424 12,480 A4,056
OE&0HI 10,0003 x13F 62 x12& 0.9 8,424
203 YR =& 3,600 3,600 0
04 NI 3,600 3,600 0
ORAN2EYE=AHI 300,000& 122 3,600




